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IHacnopt poHa2 OLIEHOYHBIX CPEACTB

1. Moaen KOHTPOJHPYEMbIX KOMIIETEHI U (MepevYeHb KOMIIETEHIUii) MO
HANPaBJIEeHUSM MOATOTOBKH:

YK-4 CnocobeH ocywecTBiaTb AEN0BYHO KOMMYHWUKALUUIO B YCTHOM U MUCbMEHHOM
dopmaxHa rocygapcrBeHHOM f3blke Poccuitickon depepaumm M MHOCTPAHHOM(bIX)
A3blKe(ax)

YK-4 3HaTb: MPUHUMMNbI MOCTPOEHMA YCTHOrO M MUCbMEHHOMO BbICKa3biBaHMA Ha
PYCCKOM M

MHOCTPAHHOM fi3blKax; MpaBMia U 3aKOHOMEPHOCTU AEeN0BOM YCTHON U MUCbMEHHOWM
KOMMYHMKaLMn

Y-YK-4 YmeTb: NpMMeHATb Ha MpPaKTUKe AeN0oBYHD KOMMYHMKAUUIO B YCTHOM W
NUCbMeHHON ¢opmax, MeToAbl W HaBblKM [Ae/0BOro OOUEHMA Ha PYCCKOM W
MHOCTPAHHOM f3blKax; METOAMKOM COCTAB/NIEHUA CYXAEHMA B MEXK/IUYHOCTHOM
0en0BOM 0BLEHNM HA PYCCKOM U MHOCTPAHHOM A3blKaX

YK-4 BnageTtb: HaBblkaMW YTEHUA U MEPEBOAA TEKCTOB Ha WMHOCTPAHHOM fA3blke B
npodeccnoHanbHOM ObOLWEHMUN; HaBbIKAMW AE/I0BbIX KOMMYHWKAUWA B YCTHOW W
NMUCbMEHHOW GOpPME Ha PYCCKOM U MHOCTPAHHbIX A3blKax; MeTOANKOM

CcoCtaBneHma cyxageHna B MeXJINYHOCTHOM e/ 10BOM O6LLI,€HVIVI Ha pPyCCKOM "
MHOCTPAHHOM A3blKa

2. IIporpamMma oueHMBAHUSA KOHTPOJIHMPYEMOH KOMIIETCHIIMH 110 HANIPABJICHUAM
NOATOTOBKM:

No i/t | KorTtponupyemsie moaynu, | Koa HaumenoBanue
pazzensl (TEMbI) TUCHUTIITUHBL™ KOHTPOJIUPYEMO | OLIEHOYHOI'O CPEJICTBA
1 KOMIIETCHUUH | TEKYITUH pyOexH
(WM ee 4acTH) BIiA
1 [Ipodeccus wuHXKEHEPa — OCHOBHBIC YK-4 3 KA ST
IIOHATHUSA
Hayka u TexHonorus 9 KC 11T
2 e VK-4
3 Mos 6yaymias npogeccus 14 KII 16 T
VK-4




4 BiusiHue TexHUUECKOro mporpecca Ha 3 KA 5T
OKpPYXaIOLIYIO Cpeny YK-4

5 IIpuMeHeHnEe COBPEMEHHBIX 9 KC 11T
WH()OPMAITMOHHBIX TEXHOJOTHUH B YK-4
po(heCcCHOHALHON IS TEIILHOCTH

6 OCHOBHBIE OTKPBITUS U IOCTUKECHUS 14 JIJ1 16 T
HAayKH U TEXHUKHU YK-4

7 Challenges and Success B 3 KA 5T
npodeccHOHANBHON JeATeIbHOCTH VK-4

8 [TpodeccnonanbHass KOMMYHUKAIIHAS 9 KC 11T

YK-4

9 KynbsTypa 6e30macHocTH Ha 14 KI1T 16 T

MIPOU3BOJACTBE YK-4

KC - kouTponbHOe cobecenoBanne, KA-konTponbHoe ayaupoBanue, KIT —konTponbHbIit iepeBo, JI/]
— JIEKCUYECKHUM AUKTAHT, T- TecT 3a pa3nel.

Ilepeuens 61006 0UEHOUHBIX CPEOCHE 0CEOCHUA OUCUUNTIUHDL U
WIKAIA OUEHUBAHUSA YPOGHA YCEOCHUA COOEPIHCAHUSA 00YUeHUS NO OUCUUNTUHE
( 6 coomeemcmeuu ¢ KpeoumHno-mooyabHoU CUCHEMOIL)

] OueHoYHbIE CPEACTBA KO/ Max | min
1 KonTtponbHOE ay1HpoBaHue KA 10 6
2 | Tecr 3a pa3zmen T 10 6
3 | MupoBbie JOCTHKEHHS B HAYKE M TEXHUKE KC 10 6
4 | Tecr 3a pazaen T 10 6
5 | KOHTpOJIBbHBIN MIEPEBOJ KII 10 6
6 | Tect 3a pa3zmen T 10 6
7 | KonTposbHoe ayaupoBaHue KA 10 6
8 | Tecr 3a paszen T 10 6
9 [IpousBoacTBo, 00pabOTKa M XpaHEHUE PaTUOAKTHBHBIX OTXOIOB KC 10 6

IlepedyeHb OLIEHOYHBIX CPEICTB
XapakTepucTrKa OIICHOYHBIX CPEACTB IO JUCIUIIIMHE MPEe/CTaBlIeHa B TaOIHIIE:

Ne HaumenoBanue Kpatkas xapakTepucTuKa OLIEHOYHOTO IIpencraBnenue OleHOYHOTO
/Tl | OLIGHOYHOT'O CPEJICTBA CpelcTBa cpencTBa B QOHIE
1 2 3 4
1 Kontponshoe Psn 3amanuit A KOHTPOJS MOHUMAaHUS | 3aJaHust JJIE  KOHTPOJBHOTO
ayIupoBaHHE BOCIIPUHUMAEMON Ha CIIyX HHOS3BIYHOM | ayAMpOBaHHA
pedn.
2 Kontponshoe CpencTtBo KOHTpOIIS, OpPraHU30BaHHOE | TeMbl TUTSt KOHTPOJIBLHOTO
cobeceoBaHUe KaK crenuajibHas Oeceia mpemojaBatens | coOeceloBaHHS
CO CTyOEHTaMH Ha TEMBI, CBS3aHHBIE C
u3ydaemMou JTUCUUTUTUHOMN, u
paccuMTaHHOE Ha BBIACHEHHE O0beMa




3HaHUU o0ydaromerocs o
OIIpeeIEHHOMY pa3Jielly, TeMe, Ipodieme
U T.II

3 KonTponbHsIit
HepeBOJI TEKCTA

KonTponbHsIit IEPEBOJ TEKCTa c
AHTJIMHACKOTO SI3bIKA Ha pycckuit
IpeJHa3Ha4yeH ISl KOHTPOJIA IIOHUMAaHHUs
WMHOSI3BIYHOTO TEKCTa M aJIeKBaTHOCTHU

TekcTbl IS KOHTPOJBHOTO
nepeBoja

nepeBoa.
4 Jlekcuaeckmit [Tucemennas MIPOBEPOYHAS pabora | DoHA 3aTaHAN TUTS
JIMKTAHT MpeJHa3HaYeHa JUIsl KOHTPOJS YCBOCHHS | JIEKCUYECKOTO JUKTAHTA
JIEKCUYIECKOTO MaTepuaa pasnena,
BKITIOYAET HECKOJIBKO 3aJaHui 17§

MpeJICTaBIeHa 10 ABYM BapHaHTaM.

3. THIIOBBIE KOHTPOJIbHO-OIIEHOYHBIE MATEPHAJIbBI

MO JUCHMUILINHE

3.1. TunoBble KOHTPOJIbHBbIE 3aJaHUS WJIM WHbIE MATEPHAJIbl, HEOOX0AUMBbIE VISl OLlEHKH
3HAHUI M YMEHHMH B Ipouecce 0CBOCHUA IUCHHUILIHNHBI

3.1.1. TunoBbie KOHTPOJIbHBbIE 32/IaHUS AJISl TEKYIIEr0 KOHTPOJIS MO0 IUCHUIIIHHE
«HOCTpaHHBIH A3BIK (AHTVIMICKUH A3BIK)»

Complete these sentences using the correct variant:

1. Circuit a consists of

2. A voltage source

3. A conductor

4. a resistor

5. No current results from

a) resistors and conductors.

b) a voltage source and resistors.

¢) a voltage source, a resistors and conductor.

a) conducts current.
b) reduces current.

¢) supplies current.

a) connects the elements .
b) supplies voltage.

¢) conducts current.
a)connects the elements.
b) supplies current.

c¢) reduces current.

a) an open.




b) a short.

Complete these sentences using the correct variant :

1. A parallel circuit has a) parallel branches only.

b) The main line and parallel branches.

2. A parallel circuit is used a) to have the same value of current in all
In order the elements.

b) to have the same value of voltage in all
the elements.

3. In a parallel circuit a trouble a) results in no current in that branch only.

In one branch b) results in no trouble in the whole circuit.
4. No current in a parallel a) result from a troublein one branch.
circuit b) results from a trouble in the main line.
5. The sum of IR voltage a) equals the value of voltage in circuit.
drops b) is less than the smallest voltage drop.

c) is more than the value of voltage in the circuit.

Complete the sentences using the correct variant:

1. The ammeter is a) a common meter.

b) an uncommon meter.

2. IN order to measure the a) the ohmmeter is used.
value of current b) the voltmeter is used.

c¢) the ammeter is used.

3. A meter has a) positive terminals only.



4. When the ammeter is used

5. The ammeter should be

connected

6. One should take into

consideration that

b) negative terminals only.
¢) positive and negative terminals .
a) the circuit should be opened.

b) the circuit should not be opened.

a) in series.

b) in parallel.

a) the positive terminal should be connected
to the negative terminal.
b) the positive terminal should be connected to the

positive terminal of the source.

Complete the sentences using the correct variant:

1. Resistor is used

2. When current passes
trough a resistor

3. Resistor are rated

4. Power is given

5. Fixed resistors have

6. The value of a variable

resistor

7. A two-ohm resistor rated

a) to measure the resistance.

b) to reduce the current.
c)to change the resistance.
d) to produce IR voltage drop.

a) its temperature drops.
b) its temperature rises.

a) in ohms.

b) in volts.
c) in watts.

a) in amperes.

b) in watts.

a) a constant value.

b) a variable value.

a) is fixed.

b) is varied.

a) has a current-carrying capacity



as a 8,000,000-w resistor equal to 2,000 amp.

b) has a current-carrying capacity

equal to 200 amp.
8. The higher the value a) the lower is the temperature of a resistor.
of current, b) the higher is the temperature of a resistor.

Complete the sentences using the correct variant:
1. A cell is used a) to increase the voltage output.
b) to reduce the current capacity.

c) to supply electric energy.

2. The terminals of a cell are used a) to conduct current.
b) to increase voltage.

¢) to connect the battery to a circuit.

3. When cells are connected in series a) all the positive terminals are
connected together.
b) all the negative terminals are
connected together.
c) the positive terminal of one cell is connected

to the negative terminal of the second.

4. Cells are connected in series a) to increase the current capacity.
in order b) to increase the voltage output.

5. In order to increase the current a) cells are connected in series.
capacity b) cells are connected in parallel.

complete these sentences using the correct variant:

1. A capacitor is used a) to supply voltage.
b) to increase the voltage output.

c) to store energy.



2. The main parts of a

capacitor are

3. The function of insulators is

4. The capacity of a capacitor

Depends on

5. The capacity of a fixed capacitor

6. The plates of a variable capacitor

7. In order to charge a capacitor a

voltage source is applied

8. The greater the distance between

The plates,

9. Variable capacitors have

10. Electrolyte capacitors have

a) insulators only.
b) metal plates only.

c¢) metal plates and insulators between them

a) to store energy.
b) to isolate the metal plates.

c) to prevent a short between the metal plates.

a) the size of the plates .
b) the distance between the plates.

c¢) the material of the insulators.

a) is constant

b) is varied.

a) can be moved.

b) cannot be moved.

a) to the metal plates.

b) to the insulators.

a) the greater is capacity of a capacitor .

b) the less is capacity.

a) air insulators.
b) paper insulators.

¢) ceramic insulators.

a) a very low capacity.



b) a very high capacity.

11. In case a capacitor has a a) it operates.
Trouble b)it stops operating.

complete the sentences using the correct variant:

1. Insulators are materials having a) low resistance.
b) high resistance.

2. Current passes through a) easily.
conductors b) with great difficulty.
3. Copper and silver are a) common insulators.

b) common conductors.
5. In case a high voltage is an insulator  a) it does not conduct current.
b) in conducts current.

¢) to prevent a short between conducting wires.

6. Insulators are used a) to store electric charge.

b) to reduce votage.
¢) to prevent a short between conducting wires.

7. Metals increase their resistance a) when the temperature decreases.

b) when the temperature increases.

8. Carbon decreases its resistance a) when the temperature increases.

b) when the temperature in creases.

9. Metal have a) a positive temperature coefficient
of resistance.
b) a negative temperature coefficient
of resistance.
complete the sentences using the correct variant:

1. Transformer is used a) to store charge.



b) to prevent the charge of energy.

¢) to transfer energy.
d) to charge the voltage and current value in a

circuit.
2. Electric power is transferred at a high a)due to resistors.
voltage and reduced to any value b) due to capacitors.
¢) due to transformers.
3. A transformer consists of a) cores only.
b) the primary and the secondary windings.
c) a core and the primary and secondary
windings.
4. The function of the primary is a) to prevent the change of voltage.
b) to supply energy.
¢) to receive energy.
5. The function of the secondary is a) to receive energy.
b) to supple energy.
¢) to transfer energy.
d) to decrease the value of charge.
6. A step-up transformer is used a) to step down or decrease the secondary voltage.
b) to step up or increase the primary voltage.
7. A step-down transformer is used a) to step down the secondary voltage.
b) to step down the primary voltage.
8. A transformer with an iron core a) is used for high-frequency currents.

b) is used for low- frequency currents.



9. A transformer with an air core is used

10. In a step-up transformer

primary.

secondary.

11. A transformer should be

substituted

[IpoBepounas padora 1

a) for high-frequency current and for
low- frequency current only.

b) for high-frequency current only.

a) the number of turns of the secondary winding is

greater than the number of turns of the

b) the number of turns of the primary winding is

greater than the number of turns of the

a) in case it has an in the winding.
b) in case it has a short between the primary
and the secondary.

¢) in case it has a short between turns.

1. PaccTaBbTe Cci10Ba B IPaBUILHOM IOPSIIIKE:

1. the/is/ living-room / There / in / a /sofa

2.1n/ is/ the/not/ kitchen / There / a /mirror.

3. the/ bedroom / there /in/ Are /beds /2 / ?

4. Are / wardrobes / the/ hall / there /in/ 8 /?

5. a/ lamp/there/Is/room/your/in/?

2. ITocTaBbTe MPEAJIOKEHUS BO MHOKECTBEHHOM YHUCIIE:

1. This cup is dirty. 2. That biscuit was tasty. 3. This hotel is very expensive but it's very nice.
4. There is a children's playground in the park. 5. That is a new supermarket in our town. 6. It's a
delicious lemon pie for dessert. 7. It's a nice cotton dress for my niece. 8. This man is an engineer.
9. That woman is my sister. 10. This child is my son.

3. BeraBbrernaron “to be” Brpedyemoiigopme Present Simple:

1.1... a student.



2. My father ... not a shop-assistant, he ... a scientist.

3. ... your aunt a nurse? - Yes, she ... .

4. ... they at home? - No, they ... not. They ... at school.
5. ... you an engineer? - Yes, L....

6. ...they lions? — No, they ... They ... horses.

7. ... you a teacher? — Yes, I ...

4. O6pazyiiTe MHOXKECTBEHHOE YHCIIO CYIIECTBUTEIHHBIX:

Face, portfolio, swine, house, tomato, hearth, mother-in-law, clergyman, ox, cry, key, fox,
downfall, rock, bush, enemy, leaf, roof, genius, hero.

Tembl TOKIIA0B U HAYYHBIX COOOIICHUIA:
JloMarniHeeuTeHUEeTEKCTOB
About myself

Let me introduce myself. My name is Ann. [ am twenty. I am a student. Istudy at the university.
I am a prospective economist. I like this profession, that's why I study with pleasure. My parents are
not economists, but they support me in my choice. We are a friendly family and try to understand and
support each other in any situation. Understanding and support is what I need in friendship as well.
Some of my friends study at the same university.

After classes we usually gather together, discuss our plans or problems and have some fun. We
have a lot of hobbies.

Sometimes we go to the disco, sometimes organize a picnic in the open air, play sports or
watch a nice film. One of my hobbies is cooking. So when my friends come to my house, I bake their
favorite apple pie. I also likereading. One of my favorite authors is Chekhov. I like his books, because
I can analyze the characters, their way of life and find answers to my questions. My friends also like

reading. We sometimes discuss our favorite authors, their books, the style of their writing and ideas
depicted in their books. I like making new friends, so, if you like, you may become my friend as well.

CrnoBapsp
Let me introduce myself — mo3BosbTENIPECTABUTHCS
a prospective economist — Oy ayIuiIKOHOMHUCT

to support — noaaep>KUBaThL



to gather together — cobupaThcsiBMecTe
to have some fun — pa3Bnekarbcs

toanalyze — aHamM3UpOBATH

CocraBbTe paccka3 o ce0e U CBOeH ceMbe
CocTtaBbTe pacckas 0 cBoeM paboueM JHe
Hanummwre cBoto 6uorpaduto.

3aroIHUTE aHKETY
[IpoBepounas padora 2
1. IlepeBenute Ha aHTIMUCKUN A3BIK:
1. He 3akppbiBaiiTe OKHa.
2. Ilo30BUTE HOCUIIBILIMKA, TIOYKAITYICTA.
3. IloWimeMTe TOMOM.
4. He cepautech Ha MEHS.
5. IlpounTaiiTe 3Ty CTATHIO.
. [lokaxxute MHE 3TU JOKYMEHTBHI.

. [lycTb OH moiaeT Tyaa OAuH.

[c BN BN

. I[TycTh oHa caemaer 3Ty padoTy cama.
9. IlycTh OHM TTOAOKIAYT MEHSI BHU3Y.
10. ITycTh OH HE XOJIUT TyAa CETOJHS BEUEPOM.

11. IlycTh OHM HE KIYT MEHS.

2. Packpoiite ckoOku, yrotpebisis rinaroisl B Present, Past wnu FutureSimple.

1.  I(togo)to bed at ten o'clock every day. 2. I (to go) to bed at ten o'clock yesterday. 3. I (to
go) to bed at ten o'clock tomorrow. 4. I (not to go) to the cinema every day. 5. I (not to go) to the
cinema yesterday. 6. I (not to go) to the cinema tomorrow. 7. You (to watch) TV every day? 8. You (to
watch) TV yesterday? 9. You (to watch) TV tomorrow? 10. When you (to leave) home for school
every day? 11. When you (to leave) home for school yesterday? 12. When you (to leave) home for
school tomorrow? 13. My brother (to go) to work every day. He (to leave) home at a quarter past
eight. As the office he (to work) at (to be) near our house, he (to walk) there. He (not to take) a bus.
Yesterday he (riot to go) to work. Yesterday he (to get) up at nine o'clock. 14. You (to have) a PT
lesson yesterday? — No, L... . 15. What you (to buy) at the shop yesterday? -I (to buy) a book. 16.



Yesterday my father (not to read) newspapers because he (to be) very busy. He (toread)
newspaperstomorrow.

Tembl TOKIIAI0B U HAYYHBIX COOOIICHUIA:

JloManiHeedTeHUEeTEKCTOB
Myhouseandflat

I live in a new nine-storied house in Borodiya Street. In front of the house there is a flower bed
and a children's playground. My family lives on the third floor. We have two rooms in our flat: a living
room and a bedroom. Our living room is the largest in our flat. There is a big bookcase in it. My
parents are teachers. Literature is their hobby. That's why we have a lot of books at home. I also like to
read, and when the weather is bad, I usually sit in our living room and read my favorite book. Besides
reading, you may also watch TV in this room. There is a big TV-set here and we often watch TV in the
evening in a family circle. In front of the TV-set there is a big sofa and two armchairs. We like to sit
here and discuss our family life. My bedroom is my study as well. It is not big. But I have here
everything I need. There is a desk, a chair, some bookshelves and a sofa. My favorite place the room is
my desk. It is the best place to work and to dream. My parents sleep in our bedroom. Before going to
sleep, we all gather together in the kitchen, drink tea with biscuits, and discuss our plans for tomorrow.
Our kitchen is also very cozy. There is little furniture in it. That's why it looks wider. There is also a
small round table in the middle of the room. We have here our meals.

CrnoBapsp

nine-storied — IEBATUITAXKHBIA
a flower bed —x1ymb6a

a bookcase — KHIKHBIAIITKA]

furniture — me0enb

CocraBpTe cooOmieHne Ha TeMmy «CXOJACTBO W OTIWYHE KWIbS B CBOCH CTpaHe U
AHTJIOSI3BIYHBIX CTPAHAX.

OnumuTe HHTEPhEP TOCTHHOM, KyXHU M CHIABHU B Bamei kBaptupe/mome.
[TpoBepounasipadora 3

1. BeiGepuTe nmoaxoaamuii MOAaIbHBIN II1aro:

1. Jackhasgotaheadache. He ... sleep well recently.

a) can’t

b) couldn’t have

c) hasn’t been able to

2.1... sleep for hours when I was a little girls.

a) could



b) am able to

) can

3. Tom ... play tennis well but he ... play a game yesterday because he was ill.
a) couldn’t, could

b) can, was able

¢) can, couldn’t

4. 1 didn’t want to be late for the meeting. We ... meet at 5 sharp.

a) were to

b) had to

¢) could

5. Where are my gloves? — I ... put them on because it’s cold today.
a) can’t

b) have to

¢) needn’t

6. You ... take an umbrella today. The Sun is shining.

a) needn’t

b) mustn’t

c) can’t

7. I’'m sorry, you didn’t invite me to your birthday party. You ... invite me next time.
a) must

b) should

¢) need to

8. Well, it’s 10 o’clock. I ... go now.

a) can

b) has to

¢) must

9. You ... smoke so much.

a) would

b) can’t

¢) shouldn’t

10. We have got plenty of time. We ... hurry.



a) must
b) needn’t

¢) should

2. VcipaBbTe OMUOKH B MPEI0KESHUSIX.

He is the most oldest student in his group.
You are taller then me.

My car is beter than his.

It is one of most beautiful lakes in the world.
These flowers are more cheap than those ones.

M

Tembl TOKIIaI0B U HAYYHBIX COOOIICHUIA:

JlomarniHnee dTeHHE TEKCTOB
My every day meals

My name is Anya. I study at the university. As I am a student, I do not have much time for my
meals. Usually I have two or three meals a day. I often go to bed late at night and then I do not have
enough time for breakfast in the morning. Some of my friends do not eat in the morning at all. I prefer
not to eat a lot in the morning. I drink tea or coffee and eat sandwiches with butter and cheese, or
sometimes jam. At about 12 o'clock I have a snack. I drink orange juice with pies or eat an apple. My
dinner is at three o'clock. There is a canteen at the university and a lot of students and teachers have
their dinner there. Here everyone may find something to their taste: soup or borsch for the first course,
meat or fish with vegetables for the second course. I usually choose fish soup, fried fish with mashed
potatoes, and biscuits with tea. It is usually loud in the canteen at dinner time. Students discuss their
student life here and make plans for the evening. I do not usually have supper. But before going to bed
I often drink a glass of warm milk with biscuits or a cup of tea with honey. It helps me sleep well and
feel healthy next morning.

CrnoBapb

a snack — 3akycka

a canteen — CTOJIOBas

for the first course — HaepBoe
for the second course — HaBTOpOE

mashedpotatoes—kaprodensHoemntope

Hanummwre penent 6iro1a pyccKoil KyxHHU.
Onwumure cBoi paboumii 1eHb.
IToaroroBeTech K posieBoi Urpe «bpoHUpOBaHUE CTOJIMKA B PECTOPAHE.

[ToaroToBbTeCh K pojieBOl Urpe «3aka3 OJI0]] B peCTOpaHe».



[TpoBepounas pabora 4
1. BeiGepute B cCKOOKax MOIXOASIIEE CIOBO.

1. The bus moved very ... (slow/slowly) and I arrived home late. (ABT0oOyC nBurasncs oueHb
MEJICHHO, U 51 IPUOBLI TOMOU TTO3/HO.)

2. Miss Jones ran .. (quick/quickly) to the chemist’s.
(MuccI>xoHCOBICTpOTIOOSKATIABATITEKY . )

3. D’m afraid I wrote the test very ... (bad/badly). (borocs, s Hamcan TECT OYEHB TII0XO0.)

4. She drives the car quite ... (good/well). (OHa BoguT MamuHy JOBOJIHHO XOPOIIIO. )

5. Dad looked at me ... (angry/angrily). (ITarma mocMoTpen Ha MEHS CEPANTO.)

6. Mr. Potter was ... (deep/deeply) touched by our greetings. (Muctep IlorTep Obu1 TTyO0KO
TPOHYT HAITMMH MO3/PABICHUSIMH. )

7. We ... (hard/hardly) know each other. (MbI mouTH He 3HaeM ApyT ApyTa.)

8. The Internet is ... (wide/widely) used all over the world. (MHTEepHeT mmpoKo
UCIIONIB3YETCSI 10 BCEMY MUDY.)

9. Hurry up, kids! It’s ... (near/nearly) midnight. (Iloropormurech, neru!Yxe mnoduru
MTOJTHOYb. )

10. The police officer examined the car ... (close/closely). (Ilomunelickuii TmaTeIBHO
OCMOTpEJ MallliHY. )

Packpoiite ckoOKH, MOCTaBUB IJ1aroji B HYXXHYIO (popmy

This book (write) many years ago.

His car (break) so he had to take a taxi.

This castle (build) in the 16th century.

I’ve missed the news block! When it (repeat)?

This dress is brand new, it never (wear).

I am reading a book while my car (repair).

At what time the dinner usually (serve) here? To my great surprise the problem (solve) yet.

NowunbkwLdDe=D

3. TloctaBbTe raaroisl U3 CKOOOK B pOPMY MPOCTOr0 MACCUBHOTO UH()UHUTHBA.

1. He wants ... (register) as a volunteer. (OH X04eT, 4TOOBI €T0 3aPETHUCTPUPOBAIH B KAUECTBE
BOJIOHTEpA.)

2. This picture seems ... (draw) in crayons. (HaBepHoe, 3Ta KapTHHA HApUCOBaHA MEIKAMHU. )

3. Welike ... (visit) by our sons. (Ham HpaBuTCsI, KOT/1a HAC HaBEUIAIOT CHIHOBBSI. )

4. They can’t ... (tell) the truth about the money. (UM Henmb3si pacckas3piBaTh MpaBAy O
JICHbTaX.)

5. That’s a nice house ... (buy). (3TOT HOM MpeKpaceH A TOr0, YTOOI €ro KYIUTh.)

6. Shedemanded ... (hear). (OHa TpeboBaa, 9TOOBI €€ BBICTYIIAIH. )

7. Laws are not made ... (break). (3aKOHBI TUIIYT HE JUISI TOTO, YTOOBI X HAPYILAIH. )

8. Nancy hated ... (laugh at) because of her ignorance. (H>HCcH HeHaBuena, KOTIa HAJ HEH
CMESUTUCH HU3-3a €€ HEBEKECTBA.)

TeMbl TOKJIaIOB M HAYYHBIX COOOIIEHUN:

JloMariHee uTeHHUE TEKCTOB

Myworkingday



I am a student of the second year of study. My name is Vadim. I am a prospective teacher of
mathematics. Every day I have my hands full. Usually I do not have a lot of tree time, so I have to plan
everything beforehand. I get up at 6.30. I wash my face, clean mv teeth, dress my sportswear and go to
a sports ground. Jogging in the morning wakes me up. brings me energy and fills me with a good
mood. After my morning exercises, I go home, take a cold shower and have my breakfast. I do not eat
much in the morning, a sandwich with butter and cheese or jam and a cup of tea. I am glad all the
members of my family have their breakfast at the same time. We may wish each other a good day and
discuss our plans for the evening. After breakfast I take mv coat and a bag, and go to the university. It
doesn't take me much time, so I am not usually late for classes. I have 3—4 classes a day After classes I
have dinner with my friends in the university canteen. Then I have to go to the library and get ready
for my classes or to write a report. After that [ meet my friends and spend the rest of the evening with
them. We go for a walk, discuss our student life, and make plans for the weekend Sometimes we visit a
sports center and play bowling or skate there. I come home at about 8. We have our supper, which is
usually light, watch TV, communicate with my parents, listen to my favorite music. Then I go to bed at
11 o'clock.

CrnoBapsb

cheese — cobIp
beforehand — 3apanee
jogging — mpoOexKa

towakeup — npoOyxnaTh

Crenaiite coobuienue o cucreme oobpa3oBanus B Poccun

CocraBbTe pacrnucaHue 3aHATUN B KOJUICIKE
[IpoBepounas pabota 5

1. Pactipenenure cneayromme NpeajioxKEeHHs 0 TpyIaMm:

1. The garden was full of children, laughing and shouting. (Cax Obu1 moson nertew,
CMEIOINUXCS U KpUYaITUX. )

2. Could you pick up the broken glass? (Tl He MOT ObI TOAHATH Pa3OUTHII cTaKkaH?)

3. The woman sitting by the window stood up and left. OKenmuna, cuneBmas y okHa, BCTana
Y yluia.)

4. 1 walked between the shelves loaded with books. (S mpomen mexay moakamu,
Harpy>XCHHBIMU KHUTAMHU. )

5. Be careful when crossing the road. (byasocToposkeH, mepexoasaopory.)

6. Having driven 200 kilometers he decided to have a rest. (IlpoexaB 200 kM, OH pemnia
OT/IOXHYTb.)

7. Ifinvited, we will come. (Ecau Hac npuriacsr, Mbl IPUIEM. )

8. I felt much better having said the truth. (Mue ctasio ropasmo mydiie, Koraa s cKasal
paBay.)

9. He looked at me smiling. (OH B3TIsiHYJI Ha MEHSI, YIIBIOAsC. )

10. She had her hair cut. (OHanmoacTpUTrIIaCBONBOJIOCHL. )

11. Built by the best architect in town, the building was a masterpiece.
(ITocTpoeHHOETYYIITIMAPXUTEKTOPOMIOPOAA, 3aHNEOBUIONIEAECBPOM. )

12. Not having seen each other for ages, they had much to talk about. (He Buns npyr apyra
BEYHOCTb, UM OBLIIO MHOTO O Y€M ITOTOBOPHTb. )



IIpnyactue I [Tepdextnoe mpuyactue | IIpuyactue 11

Tembl TOKIIa0B U HAYYHBIX COOOIICHUIA:

JloManiHeedTeHUETEKCTOB
Education in Britain

In England and Wales compulsory school begins at the age of five, but before that age children
can go to a nursery school, also called play school. School is compulsory till the children are 16 years
old.

In Primary School and First School children learn to read and write and the basis of arithmetic.
In the higher classes of Primary School (or in Middle School) children learn geography, history,
religion and, in some schools, a foreign language. Then children go to the Secondary School.

When students are 16 years old they may take an exam in various subjects in order to have a
qualification. These qualifications can be either G.C.S.E. (General Certificate of Secondary Education)
or "O level" (Ordinary level). After that students can either leave school and start working or continue
their studies in the same school as before. If they continue, when they are 18, they have to take further
examinations which are necessary for getting into university or college.

Some parents choose private schools for their children. They are very expensive but considered
to provide a better education and good job opportunities.

In England there are 47 universities, including the Open University which teaches via TV and
radio, about 400 colleges and institutes of higher education. The oldest universities in England are
Oxford and Cambridge. Generally, universities award two kinds of degrees: the Bachelor's degree and
the Master's degree.

Cnenaiite coobmenue Ha Temy «O0yuenue B BenukoOopuranum.

CrenaiiTe CpaBHUTEIBHBIA aHAIN3 CHCTEMBbI 00pa30BaHMs B Pa3HbIX CTpaHax.

[ToxroroBbrech k Oecene o nmpodeccnoHaabHOM 00pazoBanuu B Poccun, B BenukoOpuranuu.
[IpoBepounas pabora 6

1. BriOepurte BepHBIN OTBET:

1. Lisa has (gone, went) home already.

2. The prize-winning essay was (wrote, written) by my brother.

3. (Examined, examining) by a doctor, his wrist will heal soon.

4. 1shook the bright (wrapping, wrapped) gift before opening it.

5. (Waking, being walked) slowly, the dog stretched its legs.

6. The pet (choosing, chosen) by Tim is a baby rabbit.

7. The athlete, (sweating, sweated) heavily, grabbed a towel and a bottle of water.

8. I didn’t want to eat the (burned, being burned) potatoes that my sister had (cook, cooked).
9. Everyone (involved, having involved) in the discussion expressed his or her opinion.
10. (Smiled, smiling) I opened my birthday present.




11. The (married, marrying) couple set out on their honeymoon.
12. (Surrounded, surrounding) by the smell of apples,

13. I walked through the orchard.

14. I often buy cheese (imported, importing) from Paris.

15. We all praised the cake (baking, baked) by my mother.

16. When (playing, played) tennis he slipped and broke his leg.

2. OOpa3yiiTe repyHIui OT rjarojia B CKOOKax W mepeBeauTe npeaioxenue. [louemy Hamo B
JTAHHOM CJIy4ae MCIOJIb30BaTh TePYyHAMI?
Start ... about pleasant things — and you’ll be happy! (think)
Americans enjoy ... houses and ... to new places. (change/ move)
Would you like to go ... in the sea? (sail)
Most people enjoy ... in the sun. (lie)
I haven’t had my lunch yet. Do you mind ... outside for ten minutes? (wait)
John likes ... at a high speed. (drive)
Stop ... about your troubles. (worry)
Jack was proud of ... the first prize for.... (get/ jump)
Helen was so angry that she left without... a word. (say)

LRIk WD =

TeMbl TOKJIaIOB M HAYYHBIX COOOIIECHUM:

JloMarniHee uTeHHUE TEKCTOB
My plans for future

My name is Lena. I am a fifth-year-student. In a year I will graduate from the university and
become an economist. As [ am only 21, I have a lot of plans for future. But everything I want to do, I
have to discuss with my husband. We have been married for one year. We are not only a husband and
a wife, but also close friends. It is a family tradition to discuss everything and come to a mutual
decision. Of course. I dream about my own successful career. I also want to have children and a happy
family. That's the question, every young family has to answer nowadays: career or children? There are
many possible answers: first career, then children; first children, then career; career without children,
etc. My parents and my parents-in-law have three children. We are a big and friendly family. My
husband dreams about having two or more children. That's my dream too. My husband has worked
hard in order to become a good lawyer. I am also ready to do best and achieve success in my
profession. Along with that, I would like to have my own house and a car. I would also like to spend
my vacation abroad and see the places I have only dreamed about. It would be nice to travel
somewhere with my family.

CnoBaprmutual — oOmuit
tohavetodosmth. e.g. Thavetodoit. — SImomkenaTocaenarp
todoone'sbest — crenarsBCEBO3ZMOKHOE
to achieve — mocturarhb
a vacation — KaHUKYJIbI
Hanumute scce «IIpodeccust Moeit MeuThI».

[TpoBepounas padora 7



1. 3anmosHUTE TPOIMYCKU COOTBETCTBYIOIIUM MPEIJIOTOM.

a. lapplied  thejobthatlsawadvertised  the paper.
b. Ithink you’re quite right. I absolutely agree  you.
c. Theyare arguing  who’s going to win the World Cup.
d. Water consists  hydrogen and oxygen.
e. After six months of working overtime, she succeeded  paying off her debts.
f. It took him a long time to recover __ the injuries he sustained in the car crash.
I’d like to complain _ the manager  the state of my room. It isn’t very tidy.
h. Compared  many countries, the cost of living in Spain is quite low.
i.  She was concentrating so hard  her book that she didn’t hear me come into the room.
j. Doyoubelieve  reincarnation? I do.
k. Who does that car belong  ? It’s in my way.
l. CouldIspeak  youforamoment  our plans for next month? It’s rather important.
m. Gold is not affected  moisture.
n. The work was divided  four students.
o. The ship cruises  Odessa and Batumy.
2. IlpogomxuTe MpeIoKeHUs] B KOCBEHHOW pedn, CoOJI01ast MpaBuiia COTIIACOBAHUS BPEMEH.

She said, “I speak French.” — She said that she ...
She said, “I am speaking French.”

She said, “I have spoken French.”

She said, “I spoke French.”

She said, “I am going to speak French.”
She said, “I will speak French.”

She said, “I can speak French.”

She said, “I may speak French.”

9. She said, “I have to speak French.”

10. She said, “I must speak French.”

11. She said, “I should speak French.”

12. She said, “I ought to speak French.”

XN RN =

Tembl TOKIIa0B U HAYYHBIX COOOIICHUIA:

JloManiHeedTeHUETEKCTOB
Climate in Great Britain

The British Isles which are surrounded by the ocean have an insular climate.



There are 3 things that chiefly determine the climate of the United Kingdom: the position of the
islands in the temperate belt; the fact that the prevailing winds blow from the west and south-west and
the warm current — the Gulf Stream that flows from the Gulf of Mexico along the western shores of
England. All these features make the climate more moderate, without striking difference between
seasons. It is not very cold in winter and never very hot in summer.

So, the British ports are ice-free and its rivers are not frozen throughout the year. The weather
on the British Isles has a bad reputation. It is very changeable and fickle. The British say that there is a
climate in other countries, but we have just weather. If you don't like the weather in England, just wait
a few minutes.

It rains very often in all seasons in Great Britain. Autumn and winter are the wettest. The sky is
usually grey and cold winds blow. On the average, Britain has more than 200 rainy days a year. The
English say that they have 3 variants of weather: when it rains in the morning, when it rains in the
afternoon, and when it rains all day long. Sometimes it rains so heavily, that they say «It's raining cats
and dogs».

Britain is known all over the world for its fogs. Sometimes fogs are so thick that it's impossible
to see anything within a few meters. The winter fogs of London are, indeed, awful; they surpass all
imagination. In a dense fog all traffic is stopped, no vehicle can move from fear of dreadful accidents.
So, we may say that the British climate has three main features: it is mild, humid and very changeable.

[ToaroroBsTe COOOIIEHUE TIO OHOM U3 CIEIYIONTUX TEM:
1. Teorpaduueckoe monoxenne BenmnkoOputanuu

2. T'ocynapcTBeHHOE yCTpOiicTBO BennkoOpuTanum.

3. DxoHoMuKka Benukobputanuu.

4. Onwucanue kapThl BenukoObpurtanuu.

[TpoBepounas padora 8
1. 3akoHYHTE BOITPOCH HEOOXOAUMBIM MTPEIIOTOM:
a. What are you worrying ?

b. What do you hope ?

c. What exam are you preparing  ?
d. Where are you hurrying  ?
e. Who are you waiting  ?
f. What are you listening ~ ?
What railway station does this train arrive  ?
h. What have you congratulated John  ?

i. Who do you agree ?



j. Who did you cooperate ~ ?
k. Who have you just danced  ?
l. What disease did she die  ?
m. Who has it happened  ?

n. Who have you learned it ?

Tembl TOKIIAI0B U HAYYHBIX COOOIICHUIA:

JlomarniHee yTeHHE TEKCTOB

A men needs rest after hard work. Very often we are eagerly looking forward to weekends and
holidays to enjoy ourselves.

The word "holiday" comes from the words "holy day". Holidays were first religion festivals.
Now many holidays have nothing to do with religion. Almost every country has holidays honouring
important events in its history.

Some holidays come on the same date of the same month, for instance, New Year's Day or
Cristmas. But some do not. Some, such as Easter, are movable holidays.

New Year's Day is very popular all over the world. It is my favourite holiday. We usually get
together, we like celebrate this holiday at home.

We celebrate the first day of Cristmas on the 7th of January. On the 6th of January people tidy
the whole house, cook much tasty food because the day after we must not work, we must have a rest.
On this day we have a sacred supper. It begins when the first star lights up. As the legend says, this star
announced the birth of the God's Son. We celebrate Christmas for two days. In the evening a group of
boys comes. They sing songs. By these songs they congratulate on holiday, wish good crops, long life,
no illness and so on. It is interesting to know that only boys must congratulate.

Women's Day is on the 8th of March.
Then on the 1st of May goes next holiday the Day of Labor.

Another religious holiday is Easter. It is movable. It is usually the first Sunday after the first
full moon after the beginning of spring. In Russia we have special attributes of Easter: Easter eggs, and
Easter "paska" that are baked according to the special recipe. It is a very nice spring holiday.

Victory Day is on the 9th of May. It is a sacred holiday for every Russian citizen. We are
thankful to our grandfathers for the victory in the World War II.

Onunmre CBOM OTIBIX.
[ToaroroBeTe COOOIIEHHUE O TITIOCAX U MUHYCAX U3yUEHUS HHOCTPAHHOTO SI3bIKA.
[IpoBepounasipabora 9

1. TlocTaBbTe Ty1aroJibl B Hy>XKHYI0 (popMmy.
1.  IfPeter (come) tomyplace, we (go) toplayintheyard.



2. If Peter (not come) to my place, | (watch) TV.

3. If Frank’s parents (have) their holidays in summer, they (go) to
the seaside.

4.  Ifthey (have) their holidays in winter, they (stay) at home.

5. Ifthe fog (thicken), Harold (put up) the tent for the night.

6. Whenl (finish) my work, I (go) to the cinema.

7. We (buy) this book as soon as our mother (give) us some money.

8. When we (come) to your place you (show) us your present.

9. 1 (return) you your ring when you (ask) me.

10. 1 (wait) for my friend until he (come) from the shop.

11. My father (start) writing before the sun (rise).

12.  As soon as you (finish) your study I (present) you with a new flat.

2. BcraBbTe dpa3zoBbie TIIarob:

1. Canl... these sandals, please? (MoXHOTIPUMEPUTHITHCAHTATHN? )

2. It’s too cold outside. ... a warm coat and a hat. (Ha ynune caumkom xononno.Hanenn
TEIJIOE MAJIbTO U IIAMNKY.)

3. It’s too hot inside. Can I ... my jacket? (B momemeHnun caumkom xapko.Mory s CHATH
KypTKY?)

4.  Mary is going to become a doctor when she ... .(Mapu coOupaeTcst crath BpaduoMm, Koraa
BBIPACTET.)

5. Don’t forget to ... the light when you leave the bathroom. (He 3a0yap BeIKIIOUaThH CBET,
KOT'J1a BBIXO/IMIIb U3 BAHHOM. )

6. Please ... thisregistrationform. (IloxkamyiicTa, 3amoJMHHTE 3TOT PETUCTPAITMOHHBIN
OnaHk.)

7.  We’re ... to meeting your wife. (MbI ¢ HeTepIieHHEM K€M BCTPEUH C TBOCH JKEHOM.)

8. Ann is so tolerant and kind. She likes ... children and old people. (AHs Tak TeprenuBa u
no6pa.Eif HpaBUTCS yXa)XUBaTh 33 JCTHMH H MTOKUJIBIMH JTFOIbMHU. )

9.  ...! The baby is going to fall! (OctopoxHo!ManbImr MOXeET yrnacTsb!)

10. Sorry. I can’t ... with you tonight. I am very busy. (U3Bunu. I He mory mnouTtu
MPOTYJSITHCS C BAMU BeUepoM. S| oueHb3aHsIT.)

11. Heis... ajob as alawyer. (On umer paboTy Ha JOKHOCTH FOPHUCTA. )

12.  Bob smoked for 20 years but he ... six months ago. (bo6 kypun 20 ner, Ho 6pocuin 6
MECSIICB Ha3a].)

13. I’d like to watch the news. Could you ... the TV, please? (S 6b1 X0Ten MOCMOTpPETh
HOBOCTU.He MOoT OBbI THI BKITIOYHUTH TEIEBU30p?)

14. Thiswordisnewforme. I have to ... it ... in my dictionary. (3T0 cI0BO ISl MEHS
HOBOE.MHEHYKHOOTBICKATHETO B CIOBApE.)

15. We must ... our reports tomorrow morning. (Mbl JOJKHBI CAATh HAIld OTYETHI 3aBTPa

yTpom.)
16. Oh god! We have ... at a wrong station. (O 60xe! MbI BbICAIMJINCh HE HA TOM CTaHIUH.)

Tembl TOKIIA0B ¥ HAYYHBIX COOOIIEHUN:

JlomarniHee yTeHHE TEKCTOB

Ecological Problems



Since ancient times Nature has served Man, being the source of his life. For thousands of years
people lived in harmony with environment and it seemed to them that natural riches were unlimited.
But with the development of civilization man's interference in nature began to increase.

Large cities with thousands of smoky industrial enterprises appear all over the world today. The
by-products of their activity pollute the air we breathe, the water we drink, the land we grow grain and
vegetables on.

Every year world industry pollutes the atmosphere with about 1000 million tons of dust and
other harmful substances. Many cities suffer from smog. Vast forests are cut and burn in fire. Their
disappearance upsets the oxygen balance. As a result some rare species of animals, birds, fish and
plants disappear forever, a number of rivers and lakes dry up.

The pollution of air and the world's ocean, destruction of the ozone layer is the result of man's
careless interaction with nature, a sign of the ecological crises.

The most horrible ecological disaster befell Ukraine and its people after the Chernobyl tragedy
in April 1986. About 18 percent of the territory of Belarus were also polluted with radioactive
substances. A great damage has been done to the agriculture, forests and people's health. The
consequences of this explosion at the atomic power-station are tragic for the Ukrainian, Byelorussian
and other nations.

Environmental protection is of a universal concern. That is why serious measures to create a
system of ecological security should be taken.

Some progress has been already made in this direction. As many as 159 countries — members of
the UNO — have set up environmental protection agencies. Numerous conferences have been held by
these agencies to discuss problems facing ecologically poor regions including the Aral Sea, the South
Urals, Kuzbass, Donbass, Semipalatinsk and Chernobyl.

An international environmental research center has been set up on Lake Baikal. The
international organization Greenpeace is also doing much to preserve the environment.

But these are only the initial steps and they must be carried onward to protect nature, to save
life on the planet not only for the sake of the present but also for the future generations.

[ToaroroBeTe coobmieHue Ha Temy «beperute nmpupomy!»
TeMbl TOKJIaI0B M HAYYHBIX COOOIIIEHUN:

JloMariHee uTeHHE TEKCTOB

There could not be any development without inventions. Modern world can be called the world
of technology, but the way to this title was rather long. Nowadays there are numerous laboratories
discovering something new on a daily basis, but there are some inventions that date back centuries, but
are still the core of the modern science. Almost all of contemporary discoveries have been based on
previous inventions, so we should give credit to those talented inventors, who laid the foundation for
our comfort. Let us remember the most crucial inventions and their creators, who paved the way to our
easy-going life.

Wheel is one of the most ancient people’s inventions. It is the thing that lets us move
nowadays, but became a revolt in manufacturing hundreds of years ago. It is supposed that a wheel
was discovered 3,000 years ago by potters and helped to carry different goods. It was a real boost



when the wheel was enhanced to the extent that it became a part of the vehicle. The invention of the
wheel is a concept that lay grounds for many other inventions we can not live without.

Steam engine invention can be called a key to our modern transportation and industries.
Though we use more developed engines nowadays, all of them work in the same way — burning fuel is
conversed into kinetic energy. James Watt is considered to be a leading inventor of steam engine, but
there are numerous successors, who were improving it decade after decade. This invention had a
dramatic impact on the world industry allowing factories to be free from water power, developing coal
industry, increasing the speed of trains and becoming a core of modern transportation system.

Electric light is another crucial invention that influenced the development of the mankind.
Thomas Edison managed to invent a light bulb lasting for 1,500 hours, while William David Coolidge
is credited as the inventor of incandescent bulb familiar to us.

Telephone is one more revolutionary idea for people’s communication. Though the idea of it is
rather simple, it took many years to realize it in real life. Michael Faraday, Johann Reis, Alexander
Graham Bell have worked on the telephone equipment and the last inventor managed to reach his
target and even founded the first telephone company. This company is also regarded to have developed
the first mobile phones for police and later set the pace for cells development.

BI)Ipa)KeHI/Ie MHCHUS O HOBBIX TEXHOJIOTHAX

HHTepBbIO C M300peTarenem

PaGora ¢ Tekcramu
Bompocstr:

1. AnanuTtmdeckas pabora ¢ TeKCTaMu (MHAWBHUIYaTbHBIMH JIS KaXIOTO CTYJIEHTa) Ha
U3y4aeMyIo TEMY.

2. CocraBieHHe Iiioccapus U TE3UCOB K TEKCTY.
3. Cnenuduka nepeBoia MOJAIBHBIX IJ1aroJoB.

4. CtpanatenbHbIi 3aJ10T.

TeMbl TOKJIaI0B M HAYYHBIX COOOIIEHUN:

JloMarniHee uTeHHUE TEKCTOB
MHeHue 0 TPOUYUTAHHOM TEKCTE
Kpartkast xapakTepucTuka TeKcTa
CocraBneHue riaoccapust

3anojHeHue THEBHUKA

Bormpocsr:



1. AnanuTtmdeckas pabora ¢ TeKCTaMU (MHIAWBHUIYaTbHBIMH IJIS KaXIOTO CTYJIEHTa) Ha
U3y4aeMyIo TEMY.

2. CocraByieHue TJ10ccapysi U TE3UCOB K TEKCTY.
3. MecToMMEeHHbIE HapeUHsi

4. TlpunaTodnple TPEAIOKEHUS (OTIPEACIUTENbHbIE; OECCOIO3HBIE).

Tembl TOKIIA0B U HAYYHBIX COOOIICHUI:

JlomarniHnee yTeHHE TEKCTOB
MHeHue 0 IPOYUTAaHHOM TEKCTE
Kparkas xapakTepucTika TekcTa
Cocrasnenue rioccapus

3amnosHeHe THEBHUKA

Bomnpocksr:

1. Ananmutmdeckass paboTra ¢ TeKCTaMH (MHIAMBUAYAJIBHBIMH JUIsI KaXIOTO CTYACHTA) Ha
H3y4aeMyIo TEMY.

2. CocraBiieHuE TJ10CcCapysi U TE3UCOB K TEKCTY.

3. Cnemnuduka nepeBojia CyKeOHbIX CJIOB, TAPHBIX COIO30B.

Tembl TOKIIaI0B U HAYYHBIX COOOIICHUIA:

JlomarniHee dTeHHE TEKCTOB
MHeHue 0 TPOYUTAaHHOM TEKCTE
Kparkas xapaktepucTika TekcTa
Cocrasnenue rioccapus

3amnogHeHue THEBHUKA

Bomnpocksr:

1. Ananutmdeckass paboTra ¢ TeKCTaMH (MHIAMBUAYAJIBHBIMH JUIsI KaXIOTO CTYACHTA) Ha
HU3y4aeMyIo TEMY.



2. CocraBiieHue ry10ccapusi U TE3UCOB K TEKCTY.
3. Cnenuduka nepeBosia NpUAATOUYHBIX MPEATIOKESHUH,

4. Cneunduika nepeBojia MpeagoKeHui ¢ MOAAbHBIMH TJIaroJiaMu

TeMbl TOKJIaI0B M HAYYHBIX COOOIIEHUN:

JloMariHee uTeHHUE TEKCTOB
MHeHue 0 TPOYUTAHHOM TEKCTE
Kparkas xapakTepucTika TekcTa
CocraBneHue riaoccapust

3amnosHeHe THEBHUKA

Bompocstr:

1. AnanmuTtmdeckas pabora ¢ TeKCTaMU (MHAWBHIYaTbHBIMH [JIS KaXIOTO CTYJIEHTa) Ha
U3y4aeMyIo TEMY.

2. CocraBieHHe Iiioccapus U TE3UCOB K TEKCTY.

3. Tunsl BOIPOCOB.

Tembl TOKIIA0B ¥ HAYYHBIX COOOIIEHUN:

JloMariHee uTeHHUE TEKCTOB
MHeHue 0 IPOYUTAHHOM TEKCTE
Kpatkas xapakTepucTuka TeKkcTa
CocraBneHue riaoccapust

3anogHeHne JHEBHUKA

Bompocsr:

1. AnanmuTtmdeckas pabora ¢ TeKCcTaMu (MHAWBHUIYaTbHBIMH U1 KaXIOTO CTYJIEHTa) Ha
U3y4aeMylo TEMY.

2. CocraBieHHe Iiioccapus U TE3UCOB K TEKCTY.



3. Cnemnuduka nepeBojia cociaraTeIbHOTO HAKJIIOHEHUS B HAYYHOU JTUTEpaType.

Tembl TOKIIAI0B U HAYYHBIX COOOIICHMIA:

JlomarniHee yTeHHE TEKCTOB
MHeHue 0 IpOYUTaHHOM TEKCTE
Kparkas xapakTepucTika TekcTa
Cocrasnenue rioccapus

3amnogHeHe THEBHUKA

TexkcTrl HpO(i)CCCHOH&JIBHOfI HAITPaBJICHHOCTHU MJI1 JOMAIIHETO YTCHUA TexkcTol AJId U3y4daromiero
YTCHUA

1. Read the text and find in it the answers to the questions that follow it
An electric cell supplies electric energy provided its electrodes are

of different materials. In case the electrodes are of the same material

they become charged but there is no difference of potential across the
terminals. Iron and zinc plates are commonly used for producing negative
electrodes since these materials produce a high charge. Carbon is
commonly used to produce positive electrodes.

The voltage output o f cells in use nowadays is from 1 to 2 V. The

value o f the output depends only on the materials used for the electrodes.
Besides, it depends on the electrolyte of a cell. It does not depend

on the size of a cell and its construction, while the current capacity

o fa cell depends on the size o f the electrodes. The larger the size o f
the electrodes, the more current capacity they can supply. When the

size of the electrodes is increased the current capacity also increases
while the voltage output does not increase. Such is the relation between
the size of the electrodes and the current capacity.

1. What element is described in the text?

2. In what case does a cell supply energy?

3. What materials are commonly used for producing negative electrodes?

4. Explain why iron and zinc are used.



5. What is the voltage output of cells in use nowadays?

6. What does the value of the output depend on?

7. What is the relation between the size of the electrodes and the current capacity?
8. Give the title to the text.

2. Read the text and find in it the answers to the questions that follow 1 t
The capacity o f a capacitor is measured in farads. A capacitor has a
capacity of one farad when a charge of one coulomb increases the potential
between its plates by one volt.

The capacity depends on four things:

first, the higher the voltage used to charge the capacitor the more
energy it will store;

second, the larger the size o f plates and the greater their number the
more energy will be stored;

third, the closer are the positive and negative plates the greater is the
charge;

fourth, some insulators store greater charge than others.

1. What does the capacity of a capacitor depend on?

2. Give the title to the text.

3. Read the text and find in it the answers to the questions that follow it.
Wattmeter

A wattmeter is used to measure the value of power. It is connected

to the circuit directly. A wattmeter consists of coils: two fixed coils and
a coil which moves in the magnetic field produced by the fixed coils.
Wire used for the coils must have a high resistance; the fixed coils are
in series with the load, the moving coil is connected across the line in
series with a resistance. When a wattmeter is used, the readings on its
scale show the value of power being used.

1. What is the wattmeter used for?

2. What does it consist of?

3. In what way are the elements connected?

4. What do the readings on the scale show?



4. Read the text and find in it the answers to the questions th a t follow it.
Rheostat

A rheostat is a resistor whose resistance value may be varied. Thus,

a rheostat is a variable resistor.

It is used to change the resistance o f circuits, and in this way to vary

the value of current.

A rheostat consists o f a coil and a switch. Take into consideration

that wire used for the coil must have a very high resistance. When a
rheostat is used its terminals are connected in series with the load. The
switch is used to change the length of the wire through which the measured
current passes. The resistance may be changed to any value from

zero to maximum.

The longer the rheostat wire used in the circuit, the greater is the resistance.
1. What type of resistor is a rheostat?

2. What is a rheostat used for?

3. In what way does a rheostat vary the value of current?

4. What elements does a rheostat consist of?

5. In what way are the terminals connected with the load?

6. What is the function of the switch?

5. Read the text and find in it the answer to the question th a t follows i t
Voltage Values

Voltages up to about 250 V are called low. The common electric

lighting circuit operates either at about 127 or 200 V, and the voltage
used on the main circuit of large houses is usually the same. One can get
an electric shock, when one touches an uninsulated wire of such a circuit.
Voltages above 250 V are high voltages. They are used in industry.
Medium-powered motors are usually operated at 380 V. Large motors
are supplied by voltages of from about 500 up to 6,000 V.

What have you read about?

6. Read the text and find in it the answer to the question th a t follows it.

High-Frequency Current



Alternating current with frequency o f 50 c/s is widely used in industry.
Therefore this frequency is called an industrial frequency and'

the current, an industrial frequency current.

During sound transmission, current flowing in telephone wires

changes with the frequency of sound oscillations, which ranges from SO
to 10,000 c/s. The currents o f such frequencies are called audio- or lowfrequency
currents.

Radio transmission is based on the use of alternating currents with
frequencies o f hundreds, thousands, millions and even tens of million
cycles per second. These currents called high-frequency currents are
produced by means o f an oscillatory circuit consisting o fa coil and a
capacitor. Moving along the turns now in one direction now in another,
the electric charges oscillate in an oscillatory circuit.

By what means are high-frequency currents obtained?

7. Read the text and find in it the answers to the questions that follow i t
H V Power Transmission

A high-capacity hydrogenerator produces an a.c. current at 22,000 V.
The current with the potential difference of 220,000 V is produced by
means of the transformers at a step-up station and then transmitted over
the power lines.

The current potential difference is lowered to medium 6,600 V at the
main step-down substation at the end of the line. From here the power

is transmitted to the next substations. Transformers stepping the voltage
down from 6,600 V are installed at those substations.

Due to voltage conversion, alternating current is used widely in industry.
Direct current for battery charging for trams, trolleybuses and

electric locomotives is changed from alternating current by means of
rectifiers.

1. Where is the current potential difference lowered?

2. Where is the main step-down substation installed?

8. Read the text and find in it the answers to the questions that follow it



Meters

One of the important things that an engineer should take into consideration
is “how much?” How much current is this circuit carrying?

What is the value o f voltage in the circuit? What is the value of resistance?
In fact, to measure the current and the voltage is not difficult at

all. One should connect an ammeter or a voltmeter to the circuit and

read off the amperes and the volts.

Common ammeters for d. c. measurements are the ammeters of the
magneto-electric system. In an ammeter of this type an armature coil
rotates between the poles of a permanent magnet; but the coil turns only
through a small angle. The greater the current in the coil, the greater the
force, and, therefore, the greater the angle of rotation of the armature.

The deflection is measured by means o f a pointer connected to the armature
and the scale of the meter reads directly in amperes.

When the currents to be measured are very small, one should use a
galvanometer. Some galvanometers detect and measure currents as

small as 10 'n of an ampere per | mm of the scale.

A voltmeter is a device to be used for measuring the potential difference
between any two points in a circuit. A voltmeter has armatures

that move when an electric current is sent through their coils. The deflection,
like that of an ammeter, is proportional to the current flowing

through the armature coil.

A voltmeter must have a very high resistance since it passes only

very small currents which will not disturb the rest of the circuit. An
ammeter, on the other hand, must have a low resistance, since all the
current must pass through it. In actual use the ammeter is placed in series
with the circuit, while the voltmeter is placed in parallel with that

part o f the circuit where the voltage is to be measured.

In addition to instruments for measuring current and voltage, there

are also devices for measuring electric power and energy.

1. What is the above article about?



2. What is a voltmeter used for?

9. Read the text and find in it the answers to the questions that follow it
Negative Transconductance Oscillator

A negative transconductance oscillator consists of a pentode with the
screen and suppressor grids coupled together. The screen is more positive
than the plate. The cathode supplies electrons to both the screen and the
plate. If the screen voltage rises, this increase is transferred over to the
suppressor. It becomes more positive than before. A large quantity of
electrons passes to the plate and a small quantity of electrons passes to
the screen. Thus, the screen current is reduced. A negative resistance
characteristic is produced in the screen circuit at the terminals.

A tuned circuit is connected to the terminals and in this way oscillations
are produced.

1. In what way is the screen current reduced?

2. What does negative transconductance oscillator consist of?

10. Read the text and find in it the answer to the question that follows it
What a re the Names of Oscillators?

Many types o f oscillator circuits are used nowadays. Their tube

types, tank circuits, and feedbacks are different.

Examine the diagrams given below. What are the names o f the osdilators?
To answer this question read the following texts.

1. The Electron-coupled Oscillator uses a multi-grid vacuum tube

with a cathode and two grids operating in common. In this device the
plate circuit load is coupled to the oscillator through the electron

stream. The diagram shows a tetrode variant using a series-fed oscillator.
2. The Dynatron Oscillator uses the negative resistance characteristic

o f a tetrode tube to eliminate the resistance o f its tank circuit in

order to keep oscillations.

3. The Blocking Oscillator uses a plate transformer to provide the
feedback voltage.

4. A Multivibrator is a form o f oscillator using two RC-controlled



triodes.

5. The Tuned Plate - Tuned Grid oscillator has parallel or resonant
circuits in both plate and grid circuits. The necessary feedback is
supplied by the plate-to-grid interelectrode capacitance.

Name the five oscillators in Fig. 20.

11. Read the text and find in it the answer to the question that follows it.
Solar Energy

The Sun radiates to our planet great amounts of energy. This energy
input fuels all our biological processes and is the original source for
hydropower, wind power, and fossil fuel resources. Environmentally
and economically, the Sun is our greatest energy source. Why then is
the direct use o f solar energy so limited for industrial, domestic, commercial,
and transportation purposes?

First, solar energy arrives in small quantities - only about one kW

per square meter; second, it does not arrive at all during night hours.
Third, it is very difficult to transform it into useful energy forms except
low-grade heat.

Why is the direct use of solar energy limited nowadays?

12. Read the text and find in it the answer to the question that follows it.
Superconductivity

In the electric generating field, as well as in the electric-transmission
and storage-technology areas, considerable attention is focused on the

use of superconductivity conductors. Cooling an electric conductor to



temperatures close to absolute zero (-273°C) results in the conductors’
losing their resistance to electric current. Accordingly, their ohmic

losses also drop greatly. Current densities of tens o f millions amperes

per sq cm can be tolerated in such conductors.

Cryogenic technology being now mastered, one can foresee the possibility
o f' supercooling not only generators but also underground

transmission lines and storage coils.

Are these statements true or false?

a) Conductors can never lose their resistance to the flow of electric current.
b) Generators and underground transmission lines can be supercooled.

13. Read the text and find in it the answer to the question that follows it.
Metals Used as Conductors

The use o f electricity depends upon a means o f conducting it from

its source to the point where it is to be used. Copper has been used as a
conductor since the beginning o f the industry and no proper substitute
has been found. Only one metal, silver, is more efficient, but it has too
high cost to be extensively used.

Aluminium, because of its lightness, is used in common practice for
transmission lines where long spans are necessary. It has, compared to
other metals, a conducting capacity of about 60 per cent o f that of copper.
Why cannot silver be extensively used?

14. Read the text and find in it the answers to the questions that follow i t
Switchboard

Switchboard is an assemblage o f switches, controlling or indicating
devices mounted upon a frame for the purpose o f control or an inspection
of an electric path, circuit or system of circuits. Usually it is a

metal frame carrying vertical slabs with switches, controlling handles

and indicating or controlling instruments mounted thereon in an electric
central station or distributing centre.

1. What is described in the text?

2. Where is the device used?



15. Read the text and find in it the answers to the questions that follow i t
Dynamo

Dynamo is a common device for converting mechanical energy into
electric energy. This process depends on the fact that if an electrical
conductor moves across a magnetic field, an electric current flows in

the conductor.

Usually a dynamo includes an electromagnet, called the field magnet,
between the poles o f which a suitable conductor, usually in the

form o f a coil, called the armature, is rotated. The mechanical energy of
the rotation, in the form o f a current in the armature, is thus converted
into electric energy.

1. What device is described in the text?

2. What types of the device do you know?

16. Read the text and find in it the answers to the questions that follow i t
Test Blocks Types B-4 and B-6

The types B-4 and B-6 test blocks with test plugs are designed as
multipole connectors in the circuits o f protective relays and measuring
instruments.

The test blocks provide an easy and safe checking and replacement

o frelays and instruments during operation without breaking connections
in wiring and on terminal blocks.

The test blocks are made in several versions which differ in the

number o f poles and in the way o f wire connection.

Design. The test blocks consist o f two units: the base and the removable
cover.

While testing, the cover is removed and is replaced by the test plug
which is inserted into the base and is electrically connected to the circuit
for testing purposes.

Technical data. Rated voltage: 250 V; rated current: 5 A. Test voltage:

2 kV, a.c. 50 c.p.s. Transient stability: 300 A. The insulation resistance

at ambient temperatures of 201"} 5°C should be not less than



2 megohms at relative humidity up to 80%, and not less than 2 megohms
at relative humidity of 95%.

Mounting. Test blocks are mounted on the front panel. Before

mounting, blocks should be provided with current-carrying pins.
Operating conditions. The blocks are designed for indoor use in
stationary installations at ambient temperature and relative air humidity
which are indicated. The blocks are produced in three types of desipis:

1. conventional; 2. export; 3. tropicalized. Ambient temperatures for the
blocks of the first type of design are from -2 0 up to +35; for blocks of
the second type - from - 1 0 up to +35, and for the third type - from -1 0
up to +55. As to relative air humidity, it is also different for different
types o f devices. For the first type it is 80% at 201"} 5°C; for the second
type it is also up to 80% in the same range of temperatures, and for the
third type it is 95% at 40°C.

The test blocks are not to be used a) in an atmosphere containing
current-conducting dust or gases which damage metals and insulation;
b) where shock and vibration can take place; ¢) in an explosionhazardous
atmosphere.

The delivery set includes a) base; b) cover; c) fastenings for mounting
blocks and connections o f wires.

O rd e r form. When ordering, state the type o f the block, kind of

wire connection and number o f units. For example, ORDER: Test block
type B-6 for back connection - 3 pcs (=pieces).

1. What are the main characteristics of test blocks types B-4 and B-6?

2. When are the test blocks described not to be used?

17. Read the text and find in it the answers to the questions that follow it.
Compressed-gas-insulated Transmission

Transmission lines in which compressed gas is used as insulator

have a number of advantages. The main advantages are simplicity of
construction and low cost.

What is the construction of compressed-gas-insulated transmission



lines? It is rather simple. They comprise a number of phase conductors;
each phase conductor is placed inside a tube and centered by means of circular
spacers. The tube space is filled with compressed gas - usually sulphur
hexofluoride. Each tube in a 345-kV line has a diameter about 50 cm.
The system including compressed-gas-insulated transmission has the
following advantages: its losses are rather low, they are considerably
lower than those of cable transmission. Unlike cables, compressed-gasinsulated
transmission system can be designed for ultra high frequencies.

No external electric field appears in the system. The shunt capacitance is
considerably less for a gas-insulated line than for a cable. A gas-insulated
line can thus transmit power over larger distances than cable lines.

The system should be protected against metallic particles. In case
metallic particles get into the system, they cause a fault - a dielectric
breakdown.

1. Does the system described have any advantages? What are they?

2. What gas is the space filled with?

3. Why should the system be protected?

18. Read the text and find in it the answers to the questions that follow it.
Starting Resistors Types 50-51

The electrical block resistors are generally used in starting and

regulating installations for motors of any type and power.

Starting resistors have the capacity to support very high temperature
variations, to which they are subjected due to their operating duty,
without alteration or distortion.

Resistors consist o f silicon sheet-steel or o f special cast iron elements.
Said elements are grouped in an assembly by means o f steel rods
interlocked by bolts in order to obtain rigid assemblies. These units are
suitable for use in any type o f machine and operate under high vibration
conditions. For protection purposes, the resistor units are assembled in
sheet-steel cases supplied with ventilation slits.

Starting resistors have a number o f advantages; they are unbreakable,



light, rigid; they can withstand, without variation, vibration and

shocks. They are also easily detachable; their elements are interchangeable.
Resistors are intended for operation in an ambient temperature of

up to 300°C.

1. What device is described in the article?

2. What is the device used for?

3. What elements does it consist of?

4. What are the advantages of the device?

19. Study Fig. 21 and complete the sentences stating what metals are used
for producing the devices a-e.

What M etals Are Used in M aking Electrical Devices?

1. Alnico is an alloy of iron, aluminium, nickel, and cobalt used in
making....

2. Phosphor bronze springs are used to produce . . ..

3. Tungsten is used in ... .

4. Nickel and cadmium are used in ... rechargeable.

5. Nichrome is high-resistance alloy o f nickel and chromium used

for... .
X 7
a) meter point b} per { magnet ¢) battery cell
&7 ' .
’{"l >
&/
d) lamp e) heater element
Fig.21

20. Arrange the p a rag rap h s of the text in the logical order.
Aviation Signal

A glass tube filled with neon gas was found to be suitable for this
kind o f work. Instead of a neon lamp, in some cases, a low current
filament lamp may also be used as a signalling source.

In order to assist the aviator in locating the transmission line, a signal



marking its position is provided; this signal is a luminous lamp attached
to the conductors of the transmission line; the lamp is lighted by

the potential on the line and serves to indicate its position. This signal
also makes a safety device. If the line is under tension, the attending
personnel working on it will know that potential is on the line.

A high tension transmission line leading from one city to another
makes a guideway for aviators during the day time, since it is visible
from great distances. However, at night the high tension transmission
line becomes a danger for the aviator, rather than a help.

21. Read the text and find in it the answers to the questions that follow it.
Thermal Steam-turbine Power Plants

Large steam-turbine plants have two forms: condensing plants or
electric power plants.

The great masses of hot steam, having accomplished the mechanical
work in the turbines o f condensing steam-turbine plants, are condensed,
1.e. are cooled down and turned back into distilled water, and returned
to the boiler for production of steam to activate the turbine.
Condensation of steam takes place in condensers where the hot

steam is cooled when it comes in contact with tubes through which cold
water, supplied from a water reservoir (river or lake), is circulated. This
cooling water, after it takes the heat from the spent steam, is returned to
the water source carrying along with it the unutilized heat energy. This
water is called the circulating water. The importance of the distilled
water for feeding steam boilers is extremely great since chemically
clean water decreases the formation o f scale in the boiler tubes, and,
thus, makes their service life longer.

Condensing plants o f large generating capacity are built close to
sources of fuel, in order not to transport large quantities o f fuel over
considerable distances.

The electric power generated in such plants is transmitted over long

distances for the supply o f large industrial regions. So these plants are



called regional thermal power plants.

Heat and electric power plants, in addition to electric power genera-

« tion, also supply heat to closely located consumers (within a radius of
'SO km), i.e. serve as district heat plants. To such heat consumers belong
j all kinds of industrial enterprises that require heat for production purposes,
and also municipal consumers such as baths, laundries and the

heating systems o f dwelling houses and other buildings.

The electric power developed by the generators is fed to the switchboard
o f the plant, whence it is delivered by overhead transmission and

cable lines to the consumers.

1. In what part of the power plant does condensation of steam take place?
* 2. Why is distilled water used for feeding steam boilers?

22. Arrange the paragraphs of the text below in the logical order.

Testing Motors and Generators

It is of great importance, therefore, to make regular tests of insulation
resistance o f all machinery so as to detect possible faults. Different

| conditions may influence the value o f the insulation resistance.

It is advisable, therefore, to make the test o f the machine as soon

: after it has been shut down as possible, when the insulation resistance is
likely to be lowest. If, after the motor has just been shut down, the insulation
resistance is found to be satisfactory, it may be assumed that it

will be better at any other time provided that the machine does not

stand idle for long in a humid atmosphere.

; Faults on electrical machinery must be due to one o f two causes.

One is the absence o f continuity in the conductor which is supposed to
be carrying the current. The other is the absence, or partial absence, of
insulation. The latter is by far the more common and the more dangerous
of the two. A burnt out armature, for example, is usually due to insulation
failure.

A drop in insulation resistance may often be accounted for, for example,

by damp weather.



As regards the effect of temperature it should be noted that the insulation
resistance o f motors and generators is generally lower when

they are hot than when they are cold as the insulating varnishes used in
the building o f the machines have a lower resistance when hot than
when cold

Read the text and find in it the answer to the question that follows it.

a) Insulation tests to earth.

Disconnect the supply by opening the main switch and withdrawing
the main fuses.

Insert all fuses at the distribution board (see Fig. 22).

Insert all lamps.

Close all single-pole switches.

Join together the two contacts on the installation side on the main
switch, and connect them to one terminal o f the Insulation Tester used.
Connect the other terminal of the Tester to the conduit in which the
wiring is run or, if lead-covered cable is used, to the lead sheathing. A
second connection should also be made to the consumer’s main earth.
This second connection is, however, unnecessaiy if the continuity and
earthing of the conduit had been previously tested.

Turn the handle o f the Tester at about 160 r.p.m. and take a reading.
In case the result o f the test is

considered satisfactory the installation

is in proper order so far as

resistance to earth is concerned.



Conguctors
to other

branch circuits All fuses in
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If, however, the values obtained Fig.22. Insulation test to earth

are not sufficiently high, withdraw

all fuses at the distribution fuse

board and test again. This test should

include only the portion of the installation

between the main switch

and the busbars of the fuse board.

If the fault is not detected, one

should proceed to the distribution

fuse board and test each branch

circuit in turn till the faulty circuit

or circuits are discovered. These

should be subjected to further tests

till the actual fault is detected.

b) Insulation test between conductors.

Remove all lamps.

The main switch should be opened, all fuses inserted at the distribution
board, and all single-pole switches in the closed or “on” position.
Connect one terminal of the Insulation Tester to fuse contact and the

other to another contact and make a test.



Two readings should be taken on an insulation containing two-way
switches, one with both switches on the “on” position and the other

with both switches in the “o f{’ position.

If the result o f the test between conductors is also satisfactory, no

further insulation tests are necessary and the insulation may be considered
to be in order.

If, however, the results of the tests are unsatisfactory, proceed to the
distribution board, withdraw all fuses and test each branch circuit individually
between conductors until the faulty circuit or circuits are located.

What elements should be disconnected, inserted, closed, joined together, connected,
etc. fer making test on installations?

24. Read the text and find in it the answers to the questions that follow it.
Contactors Type 370

These contactors consist o f the following main parts:

* one fixed bar

* one magnetic circuit which may be either a.c. or d.c.

* one or more auxiliary contacts (the maximum number o f auxiliary
contacts is 4)

* one or more poles for use with

a.c. or d.c. loads.

These components are to be installed.

Their functions are as follows:

fixed bar has the function o f supporting

all the stationary parts of the

contactor. At both ends it is provided

with holes for mounting the contactor.

Moving shaft is made o f steel. It

is insulated for the installation of

both main pole and auxiliary moving

contacts.

1. What are the main parts of the contactors?



2. Which are the functions of each of these parts?

3. Describe Fig. 23.

_‘ﬂ’ h '3;
_[2._[;._ l_-a. :

Fig.23. Schematic position-
ing of the different contactor
components:
1 — fixed bar; 2 — magnetic circuit;
3 — auxiliary contacts; 4 — poles

25. Read the text and And in it the answers to the questions that follow i t
Disconnecting Switches

Application. Indoor disconnecting switches are devices that are intended
to make and break electric circuits rated at 6 to 10 kV, a.c. with no

load currents. The single-pole disconnecting switches are controlled manually,
by means of an insulated rod. The triple-pole disconnecting switches

are controlled by means of manual lever-type operating mechanisms.
Mounting Instructions. 1. Clean the switch from dust and dirt. 2. Inspect
it on the outside. 3. When insulating the switch, see that the bolts and
switch terminals are reliably protected.

1. What are indoor disconnecting switches intended for?

2. What means are the single-pole switches controlled by?

3. What means are the triple-pole switches controlled by?

4. What recommendations do the mounting instructions include?

26. Think of 8-10 questions covering the contents of the text below. Use
them in a talk with your groupmate.

Electric Power



Electric power is generated by converting heat, light, chemical energy,
or mechanical energy to electrical energy. Most electrical energy

is produced in large power stations by the conversion o f mechanical energy
or heat. The mechanical energy of falling water is used to drive

turbine generators in hydroelectric stations, and the heat derived by
burning coal, oil, or other fossil fuels is used to operate steam turbines
or intemal-combustion engines that drive electric generators. Also, the
heat from the fissioning o f uranium or plutonium is used to generate
steam for the turbine generator in a nuclear power plant.

Electricity generated by the conversion o f light or chemical energy

is used mainly for portable power sources. For example, a photoelectric
cell converts the energy from light to electrical energy for operating the
exposure meter in a camera, and a lead-acid batteiy converts chemical
energy to electrical energy for starting an automobile engine.

Electric power produced in large power stations generally is transmitted
by using an alternating current that reverses direction 25, 50, or

60 times per second. The basic unit for measuring electric power is the
watt - the rate at which work is being done in an electric circuit in
which the current is one ampere and the electromotive force is one volt.
Ratings for power plants are expressed in kilowatts (1,000 watts) or
megawatts (1 million watts). Electric energy consumption normally is
given in kilowatt-hours - that is, the number o f kilowatts used times the
number o f hours o f use. Electricity is clean, inexpensive, and easily
transmitted over long distances. Since the 1880’s, electricity has had an
ever-increasing role in improving the standard o f living. It now is used
to operate lights, pumps, elevators, power tools, furnaces, refrigerators,
air-conditioners, radios, television sets, industrial machineiy, and many
other kinds o f equipment. It has been counted that in developed coun-

; tries about 43% o f the electric power is generally used for industrial

" purposes, 32% in homes, and 21% in commercial enterprises.

27. Read the text and find in it the answer to the question that follows it.



Electric Power Interruptions

On November 9, 1965, at 5:16 p.m., a back-up relay failed at one of

the five main transmission lines at No. 2 station near Toronto, Canada.
As the load had shifted to the other four lines, they became overloaded,
and as a result the relays failed in all four lines. The failure resulted in
the load being shifted to the other plants in the system. The plants got
overloaded, which caused them to shut down. Within minutes, power
plants in Canada, New York, and the New England states got out of
service. The blackout affected 30 million people and covered an area of
306,000 sq m. In some areas, such as New York City, power was not
restored for about 13 hours.

This massive power blackout resulted in the construction o f the national
Electric Reliability Council in June 1958. This council sets standards
for the design, operation, and maintenance of generating and
transmission systems. These standards serve to prevent a failure in one
power system from spreading to other systems. Yet local system failures
cannot be avoided.

Nowadays in some European countries and in the US there are from

60 to 80 power interruptions per year, in which there is a loss of service
for customers for more than 15 minutes. Mostly these interruptions are
caused by weather conditions - ice, freezing snow, lightning or storms.
There can be also failures of equipment - transformers, relays, insulators
and so on. However, the reliability of electric service is extremely high.
Have you been a witness to an electric service failure? Describe it, please.
28. Read and translate the text. What do you think is meant by “Member
countries”?

Give the new units for the following: réntgen, rad, rem, curie.

Quantities and Units

For many years, special measurement units for quantities of interest

in radiation protection were used, which were not coherent with the International

System o f Units (SI). These old units (rdntgen, rad, rem and



curie) have been superseded in the last few years by a new set o f units
which are coherent with the SI system.

These new units, the gray for absorbed dose, the sievert for dose
equivalent, and the becquerel for activity o f radioactive materials, have
been progressively adopted in Member countries, although some residual
cases o fuse o fthe old units are still being observed. The relationships
between the new SI units and those previously used are shown in

the following table:

Quantity Z}SZI , Newsf;r::land 01‘;;']:;:;;"‘1 Conversion Factors
Exposure kg! |- rontgen (R) |1 Ckg'=3876R
1R=25x10"Ckg’
Absorbed dose J kg | gray (Gy) rad (rad) 1 Gy =100 rad
1 rad = 107 Gy
Dose equivalent | J kg™ [sievert (Sv) rem (rem) 1 Sv= 100 rem
1 rem=102Sv
Activity s |becquerel Bq) |curie(Ci) |1Bq=27x10"Ci
1Ci=3.7x10"Bq

29. Read the text and find in it the answers to the questions that follow it.

Electric Power Plants

The two main types o f power plants traditionally have been the fossil-

fuel steam-electric plant and the hydroelectric plant. Other types, including
intemal-combustion-engine plants and nuclear plants also have

been built. The selection o f a particular type of generating plant and its

location involves consideration o f a number o f factors such as plant,

fuel, and transmission line costs; availability o f cooling water; and environmental

considerations.
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Fig.24. Cross-section through the main structures and units

of hydroelectric power plant

For several reasons, the relative importance of the various types of
power plants has been shifting. Good sites for new hydroelectric plants
have become scarce in many countries. Distribution networks have been

extended so that less expensive power from large steam-electric stations

has been replacing power from smaller diesel-generator units. Nuclearelectric

power plants have been built instead of fossil-fuel steam-electric

plants because the cost o f coal and oil has been increasing.

In the United States in 1970, fossil-fuel steam-electric plants accounted
for 76% of the power generated, hydroelectric plants for 16%,

and nuclear plants for 2%.

In 2000 45% o f the electric power in the United States is generated
from fossil-fuel steam-electric plants, 45% from nuclear plants, and
10% from hydroelectric plants.

1. What kinds of power plants are in use nowadays?

2. What does the selection of a type of generating plant depend on?

3. For what reason are nuclear-electric power plants being built instead of
fossil-fuel steam-electric plants?

30. Study Fig. 25 and read the text. Describe a nuclear power plant.



Nuclear Power Plants

The energy for operating a nuclear power plant comes from the heat
released during the fissioning o f uranium or plutonium atoms in a nu-
clear reactor. This fission heat is used to generate steam, which drives a
turbine generator. Thus, there are two main differences between a nuclear
power plant and a steam-electric power plant: the nuclear plant

uses a nuclear fuel instead of a fossil fuel, and it uses a nuclear reactor

instead o f a boiler.

Working steam
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. water
Fig.25. Simplified production process diagram of nuclear power plant:

R — nuclear reactor; SG — steam generator; T — steam turbine; G — electric power
generator; C — steam condensor; S — switchboard

The fissioning o f uranium-235 or plutonium-239 atoms - the primary
nuclear fuels - is caused by the impacts o f neutrons on these atoms.
The fission process not only produces heat but also several additional
neutrons that can cause fissioning o f other uranium-235 or plutonium-
239 atoms. Thus, by proper arrangement o f the atoms o f the fuel,

a sustained chain reaction can be maintained to provide a steady source
of heat for operating a power plant. This chain reaction is controlled by
regulating the number and the energy o f the neutrons as they proceed
from one fission reaction to another.

There are various types o f nuclear reactors. The major differences
between them are the form o f the fuel, the methods for controlling the
number and energy o f the neutrons, and the type o f liquid or gas used to

remove the heat from the reactor core.



31. Read the texts and And in them the answers to the questions that follow.
a) Windscale Accident

Throughout the years, accidents causing a release of radioactive

material to the environment have occurred. Since World War II all ov

the world large scale nuclear facilities have been built and operated

both for civil and defense purposes. Some o f the sites on which these
facilities were located are heavily contaminated with radioactive substances.
One o f'the first nuclear reactor accidents o f environmental concern

was the Windscale accident in October 1957. During the accident the
military air-cooled graphite-moderated natural-uranium reactor used for
plutonium production caught fire during the liberation of energy in the
graphite. Emission from the Windscale lasted for 18 hours. Radioactive
material was detectable in many parts o f Western Europe but the majority
o f it was deposited in the United Kingdom.

1. How long did the emission from the Windscale reactor last?

2. What did the emission result in?

b) Chernobyl Accident

The accident, which was of global concern was the accident in

Ukraine in the Chernobyl power plant located in Polesye on the River
Pripyat.

On 26 April, 1986, Unit 4 of the Chernobyl nuclear plant suffered a

major accident. The Chernobyl 4 reactor was a graphite-moderated, lightwater-
cooled system. The installed electrical generating capacity was

1 GW. The accident followed some engineering tests of a generator.

During the tests, basic operating safety rules were being violated.

Most control rods were withdrawn from the core and the safety systems
were switched off. Two explosions and a fire that followed them damaged
the reactor and the containment building. The graphite started to

bum. Explosive energy was released, which resulted in the 1000 ton

cover plate o f the reactor being lifted up.

A prolonged release of large quantities of radioactive products



transported by the cloud from Chernobyl was detected not only in
northern and southern Europe but also in Canada, Japan, and the US.
The major part o f the release took place over the period o f about ten
days. There were two peaks in release rate (26th April and 5th May).
Later on, the release continued for many weeks at a lower rate before
the destroyed reactor was finally sealed, which took place some five
months later.

Initially the cloud o f radioactive material was carried over the Baltic
Sea into Scandinavia. After a few days the wind direction rotated
clockwise and the cloud travelled eastwards across the USSR and

southwards to Turkey.

The total mass o f the radioactive particles released in the accident
was about 6000-8000 Kg. More than half o f it was deposited near the
plant but the rest travelled thousands o f kilometres (see Fig. 26).
There is no doubt that the nuclear plant accidents offer a number of
lessons to be learnt.

At present, over 200 nuclear power reactors for commercial electricity
production operate in Europe.

The accident at the Chernobyl nuclear plant has shown that largescale
accidents in nuclear power plants can lead to contamination o f the
entire continent.

1. What was the cause of the Chernobyl accident?

2. What was the path of the radioactive material released in the accident?
3. What can accidents at the nuclear plants lead to?

4. Make a talk on the Chernobyl accidents (use Fig. 26).

TekcThl U1 TPOCMOTPOBOTO YTEHUS
1. [Tpounraiite Bonpockl. Bam Hy»XHO OyZeT OTBETHTh Ha HUX ITOCJIE MPOYTCHHS TEKCTA.

1. What did the man tell when they began to speak about robbers?



2. What did the highwayman demand?

3. How did the woman explain the matter?

IMpocmotpute TekcT. He 3a0yapTe OTMETHTH BpeMsl Hadalla U KOHIIA paOOTHI.
Case on the road

In the old days a number of people were travelling from Bristol to London. During the long journey
the passengers became friendly and didn't hide anything from each other. When the conversation
turned upon robbers, a man told he had ten guineas in gold but didn't know where best to hide them. A
woman advised him to put them into his boots.

Later on really a robber stopped the coach and demanded the money. Then to the astonishment of all
others, the woman who had advised to hide her neighbour's money in his boot said: «I have no money,
but this man has ten guineas in his boot». «The robber took the ten guineas and left. The robbed man
began to accuse the woman of being in league with the robber. But the woman said: «Wait till London
and I'll explain the thing to you».

When they came to London she told that she had had a large sum of money with her and that she had
told the man's secret to turn the robber's attention from her. She begged now to excuse her and
awarded the man with one hundred pounds.

OTBeThTE Ha BOIPOCHI

2. [IpouunraiiTe Bonpockl. BaM Hy’)KHO OTBETUThH Ha HUX IOCJIE MTPOUYTEHUS TEKCTa

1. What did the man hear?

2. What did the man think?

3. What did the man at the station say?

HaumnaiiTe mpocMmarpuBath TeKcT. He 3a0yibTe OTMETUTH BpeMsl Hayaia U KOHIIa paboTHI.
Not a robber

A young man was going from the railway station. It was a dark night and there was nobody in the
street. He was walking as fast as he could when suddenly he heard that somebody was following him.
The faster he went, the faster the man behind him followed him. The man decided to turn into a side-
street. After some time he looked back and saw that the other man was still following him. «That man
behind me wants to rob me», thought the first man and seeing a high wall around a garden jumped
over it. The other man jumped over the wall too. Now he was quite sure that this man was a robber, but
he couldn't understand why the robber was not in a hurry to attack him.

The man didn't know what to do. Then he turned round and said: «What do you want? Why are you
following me?»

«I'm going to Mr. White and the man at the station told me to go after you because Mr. White lives
next door to you. Excuse me please but will you have some more jumping tonight or will you go
straight home?»

OTBeThTE HA BOIPOCHI



3. [Ipouuraiite Borpocsl. Bam HyHO OyAeT OTBETUTHh Ha HUX ITOCJIC TPOUYTEHHUS TEKCTa.

1. Why was Hugh Boggs worried?

2. Where was his bicycle picked up?

3. When did he leave it?

HaumnaiiTe mpocMmarpuBath TeKcT. He 3a0yibTe OTMETUTH BpeMsl Hayaia U KOHIIa paboTHI.
His name and address was on the wheel

Hugh Boggs was worried all day. In the morning he received a letter from the police. They asked him
to call at the station. Hugh couldn't understand why the police wanted him. He didn't do anything
wrong. It was perhaps a mistake.

At the police station a policeman told him that his bicycle had been found. It was picked up in the hills
in Wales about a hundred miles away. His name and address were written on the wheel.

The bicycle was sent to his home by train. Hugh was very much surprised when he heard the news. He
was amused, too, because it was his old broken bicycle he had left behind last summer when returning
to town after his holidays. Now when he receives his bike, he will have to think how to get rid of it
again.

OTtBeThTE Ha BOIIPOCHI

4. IlpounTaiiTe Bonpockl. Bam HY>XHO OyJ1eT OTBETUThH Ha HUX MOCTIE IPOUYTEHUS TEKCTA.
1. What did the judge's wife ask him to do?

2. What did the judge do with the box?

3. What was there in the box?

[IpocmoTtpuTe TekcT. He 3a0ynbTe OTMETUTH BpeMsi Hayalia ¥ KOHIIa pabOThL.

Caught in his own trap

It happened in England not very long ago. A judge was going for an assize (Bble3Hasgceccuscya) to a
distant town. His wife asked him to allow her to go with him. The judge agreed but told her not to take
a lot of boxes. Next morning they started in a carriage. On the way the judge wanted to stretch his legs
and his feet struck against something under the seat. It was a box. The judge was very angry, he
opened the window and threw the box out. The coachman stopped the horses to pick up the box but the
judge ordered to drive on.

The next day the travellers reached the town. The judge put on the robes and was ready for going to
the court, but he couldn't find his wig (mapuk) which is a very important attribute of an English judge.
Then he cried: «Where in all the world is my wig?»— «Your wig, my Lord? Why, your Lordship threw
it out of the carriage window yesterday», explained the coachman who was watching the scene.

OTBeThTE HAa BOIIPOCHI.

5. IlpounTaiite Borpocsl. Bam Hy>kHO OyZeT OTBETUTh Ha HUX MOCJIE MPOUYTEHHS TEKCTA.



1. What does the merchant take with him?

2. What is the monkey doing when the thieves attack the merchant?

3. Where does the monkey lead the magistrate with his men?

IMpocmotpute TexcT. He 3a0yabTe OTMETHTH BpeMsl Hadalla ¥ KOHIIA paOOTHI.
The monkey detective

A merchant goes to Calcutta on some business. He takes with him a large sum of money and some
valuable jewels. A monkey, of which he is very fond, also travels with him. Some thieves decide to
attack and to rob merchant. On a lonely part of the road they catch him, murder him and take his
things. Then they throw the body into a dry well, cover it over with leaves and go away. All this time
the monkey is watching them from the tree. When the murderers are out of sight, the monkey goes to
the magistrate's house and is crying and moaning and finally makes the magistrate follow him to the
well. The magistrate brings some men with him, and one of them goes down into the well where the
body of the murdered man is found. The monkey then leads them to the bazaars, and as soon as he sees
one of the murderers he runs at him and bites him in the leg. The magistrate's servants come and seize
the man. In this way all the murderers are detected by the monkey. They are all caught and punished
accordingly.

(202 words)

OTBeThTEHABONPOCHI.

6. IIpounTaiite Borpocsl. Bam Hy>kHO OyZeT OTBETUTh Ha HUX MOCJIE MPOUYTEHHS TEKCTA.
1. Who was murdered once?

2. Who guarded the body?

3. What did the king order to do with the body and the dog?

4. What did the dog do when he saw the murderers?

[IpocmoTtpute Teker. He 3a0y1pTe OTMETUTH BpeMst Havajla U KOHIIa PaOOTHI.

Crime Will Be Out Sooner of Later

Once during the civil wars of Rome a slave was murdered in one of the city squares, and nobody knew
who committed the crime. The murdered slave's dog guarded the body and didn't allow anybody to
touch it. The king, travelling that way, saw the animal watching the body. When he learnt that the dog
had been there for three days without food or drink he ordered to bury the body and bring the dog to
him.

After some time the review of the king's troops took place, and every soldier had to march past the
king. All this time the dog lay quietly by the king's side, but on seeing the murderers of his late master,
he flew at them with extraordinary fury barking and tearing their clothes. The king took notice of it. He
ordered to make an inquest and the criminals confessed the crime. Later they were tried and sentenced
to death.

OTBETHTEHABOIPOCHI.



7. IlpounTaiite Bompocsl. Bam Hy>kHO OyZeT OTBETUTh Ha HUX MOCJIE MPOUYTEHHS TEKCTA.
1. How many members must be present at the session of the House of Commons?

2. When do most of the members of House of Lords appear in the House?

3. When must the members bow to the chair?

ITpocmotpuTte Tekct. He 3a0ynpTe OTMETHTH BpeMs Hadajla U KOHIa padoTHI.

From Monday to Thursday the House of Commons, when in session, meets daily in the early
afternoon. Most members of the House of Commons do not attend Parliament all the time it is in
session, but at least 50 members must be present. If a member calls for a «Count» and fewer than this
number are present, the House is adjourned.

The House of Lords meets on only three days a week, for hours. Not more than 100 peers take part in
the regular work of the House. The rest of them appear only on ceremonial occasions.

There is a chair at the top of the House of Commons, in which sits Mr Speaker or his deputy when the
House is in session. Every member entering or leaving the House is supposed to bow to the chair — not
to the occupant, for the chair may be empty; still they must bow. Some members make quite a
ceremony of it.

OTBETHTEHABOIPOCHI.

8. [IpounraiiTe Bompocsl. Bam Hy»HO OyieT OTBETUTh HAa HUX MOCIIE POYTECHHUS TEKCTA.
1. Where did he think he lost the lighter?

2. What did he take with him when he went to the police station?

3. What did he realize when he got home?

[TpocmoTpuTte TexcT. He 3a0yabTe OTMETUTH BpeMs Hadana U KOHLA paOoThI.

How I lost my lighter

The last time I went to Exham I lost my lighter. The lighter was old but it had been a present from my
mother. I tried hard to remember where and how I could have lost it. I wondered when I had last used
it. At first I could not remember. Then I knew. It had been on that bus I had taken on my way back
from the National Gallery to the boarding-house. An old man had asked me to give him a light and I
had. I well remembered how he handed the lighter back to me, so it must have disappeared either while
I was on the bus or later, in the street, between the bus stop and my boarding-house because it was
there that I discovered my loss.

So I decided to get in touch with the police. Off I went. The moment I stepped outside the door I
realized it was raining hard, so I returned to my room to take my umbrella.

I reported my loss to the officer on duty at the enquiry desk saying that the lighter had my initials
engraved on it: N. S. «Very well. Let's see the lost-and-found book». The police officer lifted a heavy
black book on to his desk, opened it, and ran his finger down the page. «Quite a few things have been
brought in from all over the district today. Keys, wallet, glasses, handbag, bottle of whisky, right
glove, umbrella, pocket transistor, two books, camera...» The officer continued his list of objects for a



little longer and then suddenly he raised his voice: «Lighter! What did you say your initials are, sir?»
«N. S., sergeant». «And N. S. they are».

The rest was a simple formality. The officer gave me my lighter and filled out a form for me to sign. I
left a tenshilling note as a reward for the finder, and left the police-station. I took a taxi home, and only
after I had got home did I realize that I had left my umbrella at the police-station.

OTBeThTE HA BOIPOCHI.

9. IlpounTaiite Borpockl. Bam Hy)XHO OyJeT OTBETUTh Ha HUX TOCJIE MPOUYTEHHS TEKCTA.
1. What did the daughter's friend phone to say?

2. Where did Mr Barker have to go with the money?

3. Where did he put the money?

4. What was his daughter's explanation?

[TpocmoTpuTte TexcT. He 3a0yabpTe OTMETUTh BpeMs Hayana U KOHLA paOOThI.

Kidnap!

Mr and Mrs Barker were having a quiet day at home. Their 17-year-old daughter was away in Scotland
staying with a friend. At 12 noon, Mr and Mrs Barker got a phone call from the friend where their
daughter was supposed to be staying, saying that she had disappeared. They were just about to call the
police when the phone rang again. A hoarse voice informed Mr Barker that his daughter had been
kidnapped and that unless he paid a ransom of § 1000 he would never see his daughter alive again.
When Mr Barker inquired who the caller was, the voice answered that it was someone he knew well.
The voice then gave him instructions about where and when to hand over the money. He was warned
not to tell the police or to attempt to have the phone call traced. Mr Barker went to the bank and
immediately withdrew the money out of his bank account and left on the next train to Brighton. When
he arrived, he entered the Grand Hotel at five to six and carefully placed the briefcase beside a sofa as
arranged. At six o'clock precisely, a woman in a scarf and raincoat approached, took the briefcase and
walked quickly away.

At 10 p.m. the same evening, to his great relief, his daughter returned home. She could hardly refrain
from laughing. Imagine his surprise when she handed him his briefcase containing the $ 1000. It
turned out that she and her friend had decided to play a practical joke. It was she who had put on a
hoarse voice to phone her father and it was she who had collected the briefcase in Brighton. The joke
had succeeded but, strangely enough, Mr And Mrs Barker did not appreciate it as much as their
daughter did.

OTBeThTE HA BOIPOCHI.

10. ITpounTaiiTe Bompockl. Bam HyXHO OyIeT OTBETUTh Ha HUX TIOCJIC TPOUYTEHHUS TEKCTa.
1. What was a man charged with?

2. Who defended the criminal?

3. What was the verdict of the jury?

[IpocmoTtpute Teker. He 3a0ypTe OTMETUTH BpeMst Havajla U KOHIIA PaOOTHI.



A strange sentence

A man was brought up before a judge and charged with burglary. He had cut a hole in the side of a
tent, had put his head, his right arm and his right shoulder through the hole and had stolen several
things belonging to the people sleeping in the tent.

The lawyer of the defendant said that as the man had not entered the tent, he couldn't be convicted of
burglary and ought to be set free. The judge however said that while the man as a whole had not
committed burglary, his head, his right arm and his right shoulder had.

The jury brought in a verdict of guilty against these parts, which were sentenced to two years
imprisonment with hard labour in the state prison. All the rest of the man was found not guilty and
discharged.

OTBeThTE Ha BOIPOCHI.

11. ITpounTaiiTe Bormpockl. Bam HyXHO Oy/IeT OTBETUTh Ha HUX TOCJIC TPOUYTEHHUS TEKCTa.
1. What was the verdict for the students?

2. When was the diplomat kidnapped?

3. What did the prosecution say about him?

[TpocmotpuTte TekcT. He 3a0ynpTe OTMETUTH BpeMst Havyalla M KOHIIa paboThlI.

Two students convicted of diplomat's murder

Two students who took part in the killing in February last year of an Indian diplomat, Mr.
RavindraMhatre, were convicted of murder at Birmingham Crown Court.

Mohammed Riaz, aged 23, a student, of Jarrom Street, Leicester, and Abdul Raja, aged 21, a student,
of rue de la Butte, Blauchet, Paris, both Kashmiris, were convicted on a majority verdict of eleven to
one.

They were remanded in custody for sentencing with four others who have admitted taking part in the
kidnapping plot.

The court heard how Mr. Mhatre, the assistant commissioner at the Indian High Commission in
Birmingham, was kidnapped as he returned to his home in Bartley Green, on the outskirts of city.

He was held prisoner in Birmingham for three days before being driven to a lane in Leicestershire,
where he was shot three times at point-blank range.

Mr. Igor Judge, QC, for the prosecution, said: «This happened to a man with no known enemies. It
happened to a man who had never caused offence to the defendants or any of those involved in the
problems thousands of miles away».

OTBeThTE HA BOIPOCHI.

12. [Ipounraiite Bonmpockl. BaM HyHO Oy/eT OTBETUTh Ha HUX IOCTIE MPOUYTEHUS TEKCTa.

1. Why did Mr. Newbery shoot?



2. What was the judgement?

3. What did the judgement cause?

4. Was Mr. Newbery right, trying to defend himself?

IMpocmotpute TexcT. He 3a0yabTe OTMETHTH BpeMsl Hadalla ¥ KOHIIA paOOTHI.
82-year-old man who shot burglar must pay him $ 4000

An 82-year-old man who shot a burglar who was trying to break into his allotment shed was ordered to
pay him $ 4000 damages yesterday. Ted Newberey had been sleeping in a shed to try to stop vandals
destroying his allotment. He fired through a hole in the door when he heard voices outside. Mark
Revill, 28, was hit in the chest and arm by 50 shotgun pellets as he and another man tried to smash
their way into the shed.

They had gone there to steal, knowing that the pensioner had a television set and a washing machine in
the shed.

Mr Newbery had slept in the shed every night for four years because of vandalism, the court was told
by the defense. That night, he heard a loud banging on the door and a voice saying: «If the old man's in
there, we'll do himy». He was absolutely terrified, and fired the gun in self-defense. As the result of the
incident, MrRevill lost two fingers, and has partially lost the use of one arm

Mr Justice Rougier ruled that Mr. Newbery had acted out of all proportion to the threat. He had not
acted in panic, but had planned his response in advance, and it had been reckless to shoot the shotgun
through a hole in the door, while not being able to see what he was shooting at. Mr Justice Rougier
awarded Revill $4000 for his injuries and loss of earnings.

The judgement coursed an immediate public outcry. Tim Molloney the Mayor of Erewash, launched
an appeal to raise money to pay Mr Newbery's bill, and started the fund with a contribution of $100.
Since then, money has been pouring in from all over the country. A London restaurateur was one of
the dozens to call «The Times» to express his anger over the affair. HusseyinOzer, 42, said he would
sell his Rolex watch to pay the award. «I'm outraged. The old saying that an Englishman's home is his
castle doesn't seem to be true any more», he said.

OTBeThTE HA BOIPOCHI.

13.I1pounTaiite Borpochl. Bam HyHO Oy/IeT OTBETUTh Ha HUX TIOCJIC TPOUYTEHHUS TEKCTa.
1. Who was placed behind the doors?

2. What would happen if the door which concealed the tiger was opened?

3. What would happen if the door which concealed the lady was opened?

4. What was the princess" decision?

[MpocmoTpuTe TekcT. He 3a0yapTe OTMETHTH BpeMsi Hadana U KOHIIA paOoTHI.

The lady or the tiger?

Once a king had decreed that every person accused of crime should be placed in a large room, where,
in the presence of the king and the court he is to open one of two doors which were exactly alike.
Behind one door was a hungry, man-eating tiger and behind the other a beautiful lady, dressed as a
bride. If he opened the door which concealed the tiger he was considered to be guilty and put to death,



if he opened the door which concealed the lady, he was considered innocent and was immediately
married to her. No previous ties were allowed to be an obstacle to marriage. The disposition of the lady
and the tiger was, of course, a secret.

Now it happened that a young noble man who was rather poor won the love of the king's daughter; and
being suspected by the king was imprisoned and brought to trial before two doors. The princess
discovered behind which doors the lady and the tiger were to be placed. She didn't want, of course, her
lover to be eaten by tiger, but she also didn't want him to become the husband of some other lady. At
length her mind was made up. On the day of the trial she managed to signal her lover to open the right-
hand door. This he immediately did. The author leaves the question to you: «Who came out of the
opened door — the lady or the tiger?»

OTtBeThTE HA BOIIPOCHI.

14. TIpounTaiiTe Bompockl. Bam HyXHO Oy/IeT OTBETUTh Ha HUX TTOCJIC TPOUYTEHHUS TEKCTa.
1. Who was Mr Aristos Constantinou?

2. When and where the murder was committed?

3. What are the police looking for?

4. How many intruders were there according to the police?

[IpocmoTtpuTe TekcT. He 3a0ynbTe OTMETUTH BpeMsi Hayalia ¥ KOHIIa paboThlL.

Burglary theory after wealthy businessman is shot dead

A big police investigation was under way in north London after a wealthy businessman died when
intruders broke into his luxury home.

Mr. Aristos Constantinou, aged 40, was shot a number of times after he and his wife Elena arrived
home at their detached house in the Bishop's Avenue, Hampstead, after a New Year party.

Detectives were waiting to interview Mrs. Constantinou, who is in the twenties, to discover what
happened in the house at about 1.30 in the morning. The house was empty apart from Mr. and Mrs.
Constantinou, whose three children were staying with friends for the night.

Police believe the intruders were burglars and discount any connection between the shooting and Mr.
Constantinou's Cypriot origin. A police spokesman said that although a full inventory was not
complete some cash is thought to be missing.

The police need to discover whether the couple came home and chanced upon the intruders, whether
the intruders broke in after the Constantinous had arrived home and whether there was an attempt to
force the couple to reveal the whereabouts of jewellery and cash.

The dead man was an extremely wealthy dress manufacturer with offices in London's West End. His
home is in one of the most expensive roads in London.

Running up to the Kenwood estate in Hampstead, the road is known locally as «Millionaire's Row».
Many of the houses are large, detached buildings with elaborate security precautions. Many foreign
families live in the area.



The investigation is being headed by Det Sup Robert Green, who has set up a squad of detectives at
Finchley police station. The police are looking for witnesses who may have seen anything suspicious
in the area of Hampstead Heath between midnight and 1.45 a.m.

It is likely that the intruders had a car nearby, but police have not disclosed any sightings.

A Scotland Yard spokesman said the victim was shot «several times» but he refused to say what type
of gun was used. «There were signs of forced entry to the house and first indications suggest there
were two intrudersy he said.

OTBeThTE HAa BOIIPOCHI.

15. TIpounTaiiTe Bompockl. Bam HyXHO OyIeT OTBETUTh Ha HUX TOCJIC TPOUTEHHUS TEKCTa.
1. What did a Spaniard do?

2. Where did the Indian apply?

3. What kind of a man was the judge of the court?

4. What did the Indian invent?

5. What did the Indian tell the judge?

[TpocmotpuTte TekcT. He 3a0ynpTe OTMETUTH BpeMsl Hadyalla M KOHIIa paboThlI.

Bribery stopped

It happened in America not long after its colonization by the Spaniards. A Spaniard stole an Indian's
horse. The Indian however found the thief and demanded the horse to be returned to him, but the
Spaniard refused to do it. The Indian applied to the court and brought witnesses who could testify that
it was his horse. But the judge of the court was a bad man and used to take bribes from the parties who
came to the court. The Indian knew this, and he invented a trick how to deceive the judge. Before
going to the court on the day of the trial, he took a big stone and put it under his arm. The judge at
once noticed that the Indian had something under his arm and decided the case in the Indian's favour.
He ordered the horse to be returned to the Indian and punished the Spaniard for theft. After the trial,
when the judge and the Indian were left alone, the judge asked the former what it was under his arm
and whom it was meant for. The Indian showed him the stone and told it was meant for the judge in
case he would had decided in the Spaniard's favour. It was a good lesson for the bad judge, and he
gave up the habit of taking bribes.

OTBeThTE Ha BOIPOCHI.

16. I[IpounTaiite Bompockl. BaM HyHO Oy/eT OTBETUTh Ha HUX IOCTIE IPOYTEHUS TEKCTa.
1. How did the criminals manage to hijack the helicopter?

2. Who were the hijackers?

3. How did the prisoners escape?

[TpocmoTpuTte Texcr. He 3a0yabpTe OTMETUTH BpeMsl Hayaia U KOHLA paOOThI.

Helicopter plucks two from jail



Rome. Two gunmen yesterday hijacked a Red Cross helicopter, lifted two inmates from a Rome prison
courtyard and flew off in a hail of automatic gunfire. A third prisoner ran to the helicopter, but slipped
in the rain.

After taking off from the prison, the helicopter landed in a Rome football field where a match was
underway, and the hijackers and escapees fled by car.

Officials said the two hijackers spoke French and that one of the escapees, a Tunisian-born
Frenchman, was sought by French authorities for a Paris bank robbery and murder. The other one was
suspected of supplying arms to Italian terrorists.

Police said the hijackers walked into San Camilo Hospital in Western Rome and cornered the
helicopter pilot, Mr. Mauro Pompa, aged 42. They handcuffed the pilot's 10-year-old son to a radiator
and forced Mr. Pompa at gunpoint to take them to the helicopter, parked across the street.

The white helicopter with red crosses painted on each side then flew across the city to Rebibbia prison
in eastern Rome. There, it hovered a yard above the courtyards where about 50 inmates were
exercising, deputy warden, Mr. Giancarlo Baldassini, said. As the hijackers fired automatic weapons
for cover and lowered a rope ladder, two inmates dashed to the helicopter and jumped in. A guard at
Rebibbia prison was slightly injured by flying glass during the gun battle.

Two shots fired by a guard hit the helicopter.

OTtBeThTE HAa BOIIPOCHI.

17. IIpounTaiiTe Borpockl. Bam Hy)XHO Oy/leT OTBETUTh Ha HUX TOCJIC MTPOUTEHHUS TEKCTa.
1. What is a barrister according to MrStaughton?

2. What does the phrase «With respect» really mean?

3. What does the judge want?

4. What does the judge say about some words?

[TpocmoTpuTe TekcT. He 3a0yapTe OTMETHTH BpeMsi Hadaia U KOHIIA paOoTHI.

Judge's «respectful» plea for plainer English

A barrister is a man born with a silver spoon in his mouth in place of a tongue. Or so it would appear
to Mr Justice Staughton, a judge in the Commercial Court.

The learned judge has become irritated at the linguistic duplicity of counsel, and the way in which they
use archaic words to camouflage what is at bottom, an insult.

Writing in the current edition of the quarterly legal journal «Counsel», a learned magazine read by
upper echelons of the legal profession, the judge tells about barristers who preface a statement to him
with the phrase «With respect». What that really means, says the judge, is «you are wrongy.

A statement prefaced with the words «With great respect» means «you are utterly wrong». And if a
barrister produces the ultimate weapon of «With utmost respect» he is really saying to the court, «Send
for the men in white coatsy.

The judge wants more plain English used in courts, and less of the legal language of the obscure past,
some of which he says has been «obsolete» in ordinary speech almost since the Bible.



Words like «humbly» and «respectfully» are not only unnecessary in written legal documents, they are
generally untruthful in oral argument, says the judge with utmost respect.

Judges themselves are, of course, not entirely free of guilt in the matter of exchanges which are not
very understandable.

As the courtroom clock moves towards 1 pm, counsel might say: «It might be of value to your
Lordship if I were to inform you at this juncture that I have several more questions to ask of to this
witness which would take some little while». The judge will reply: «This seems a useful time to
adjourn». Whattheyreallymeanislunch.

OTBeThTE HA BOIPOCHI.

18. IIpounraiite Bonmpockl. Bam HyHO Oy/eT OTBETUTh Ha HUX IOCTIE IPOYTEHUS TEKCTA.
1. Whom did the police arrest in connection with the killing?

2. Why did the police free him three months later?

3. What does the test involve?

4. What does the DNA form?

5. How much time and money does test take?

[IpocmoTtpute Teker. He 3a0y1pTe OTMETUTH BpeMst Havajla U KOHIIA PabOThI.

DNA prints

(A foolproof crime test)

Dawn Ashworth, 15, left a friend's house last July to walk to her home in Enderby, a village in
England's East Midlands. She never made it. Two days later her body was found; she had been raped
and strangled. Soon after, police arrested a 17-year-old youth in connection with that killing and an
earlier, similar murder.

But three months later, convinced that the suspect was innocent of both crimes, the police freed him.
How could they be so sure? By using the new technique of DNA fingerprinting they had proved that
man was innocent. This month the police began using the test on blood from 2,000 Midlands men,
hoping that if one of them is guilty, his DNA print will give him away.

The test involves comparing the DNA of blood or hair roots found at the scene with the DNA of a
suspect. What makes it foolproof is that no two people (other than identical twins) have the same
genetic characteristics. While considering this fact in 1983, Alee Jeffrets, a geneticist at the University
of Leicester in England, realized it might be the basis for an important new tool in criminal
investigations. The DNA from each individual, he found, formed a unique pattern — in effect a DNA
fingerprint.

In the Midlands case, Jeffreys established that the DNA pattern of the 17-year-old suspect did not
match those obtained during the murder investigations. The patterns of each of the 2,000 Midlands
men will undergo similar scrutiny. But that may take a while. Each test involves a complicated series
of steps over a period of 2 1 /2 weeks. Still, Jeffreys believes, with further refinements, and despite $
300 price tag, the test will more than pay for itself in criminal investigations.

OTBeThTE HA BOIPOCHI.



3.1.2. TumnoBble KOHTPOJIbHBIE 3aJaHUs [JI1 MNPOMEKYTOYHOM aTTecTalldd MO HUTOraM OCBOEHHUS
JTUCIUTITUHBI «ITHOCTpaHHBIN S3bIK (AHTIIUHACKHH SI3BIK)»

W3ydyeHnne qUCHUIIMHBI IPEANOaraeT MPOMEXyTOUHYIO aTTeCTallui0 (KOHTPOJIbHBIE paOOThI).

KonTtponsHas pabora 1
1. Ynotpebuts raaroi tobe B mpaBuiIbHON Gopme.

1) Myfather ... a teacher.
1) He ... a pupil twenty years ago.

3) I ... a doctor when I grow up.
1) My sister ... not... at home tomorrow.
2) They ... in Moscow last year.

2. Ynotpebure riaroi tohave B IpaBUILHON Qopme.

1) I...an interesting book about Repin.

2) My sister ... two little children.

3) ... you ... some time in the evening to discuss this question?
4) I...alot of work yesterday.

5) Who ... anyquestionsnow?

3. Ynotpebure 000poT thereis/are HyKHOM BPEMEHH.

1) How many rooms ... there in your flat?

1) There ... 30 pupils in our class last year.

2) There ... no school near our house 5 years ago.

3) How many people ... there ... at the party next Sunday?
4) There ..a new cinema near my house now.

4. Hanumwure YKa3aHHBIC CYIICCTBUTCIILHBIC BO MHOKCCTBCHHOM YUCIJIC.

Class, ox, baby, leaf, sheep, advice, shoe, hero, roof, factory

5. HanumuTe cTeneHu CpaBHEHUS CIEIYIOMIMX MpUlarareiabHbIX.

Tall, big, grey, angry, careful, narrow, expensive, cold, clever, difficult, bad.

6. BcraBpTesome, anyununo.

1) Do you want... milk in your coffee?
2) There is ... snow in the street because it is warm.
3) Icansee ... children in the yard. They are playing.

4) There were not... flowers on the table.



7. IlocTaBbTe Taroisl, JaHHbIE B CKOOKaX, B HY)KHOM BPEMEHH.

1) My friend (to work) at the factory.

2) This group (to go) to the theatre next month.
3) We (to get) books from the library last week.
4) 1 (to come ) home later than usual yesterday.
5) This student (to answer ) well at the last lesson

KonTtponshas padora 2

1. O06pa3yiiTe MHOXECTBEHHOE YHCIIO
Face, portfolio, swine, house, tomato, hearth, mother-in-law, clergyman, ox, cry, key, fox, downfall,
rock, bush, enemy, leaf, roof, genius, hero.

2. TlocraBbTe npeagokKeHne BO MHOKECTBEHHOE YHCJIO:

1. This cup is dirty. 2. That biscuit was tasty. 3. This hotel is very expensive but it's very nice.
4. There is a children's playground in the park. 5. That is a new supermarket in our town. 6. It's a
delicious lemon pie for dessert. 7. It's a nice cotton dress for my niece. 8. This man is an engineer. 9.
That woman is my sister. 10. This child is my son.

3. BcraBbTesome, anyuno.

1. We haven't got ... milk. We can't make an omelet. 2. Bob always likes ... sugar in his coffee. 3. Poor
Oliver was hungry. He wanted ... bread. 4. They haven't got... stamps. I can't post my letter. 5. He has
got ... money. He can't spend his holidays in Switzerland any more and stay at luxury hotels. 6. There
are ... schools in this street. 7. Are there ... pictures in your book? 8. There are ... flowers here in
winter. 9. I can see ... children in the yard. They are playing. 10. Are there ... new buildings in your
street?

4. BcraBeTemuch, many, (a) few, (a) little.

1. Robert wrote so ... letters that he's never going to write a letter again. 2. She ate so ... ice cream that
she's going to have a sore throat ( 6ompHOeropno). 3. His father earned ... money, but he enjoyed his
job. He loved teaching English very ... . 4. There are ... cookies (nedenne) in the box. I should have
bought them last Monday. 5. Does your sister read ... ? — Yes, she does. And your brother? — Oh, he
doesn't. He has so ... books, but he reads very ... .

5. Obpa3zyiiTenpeioKeHHE:

1. the / is/ living-room / There / in / a /sofa
2.1in/ s/ the/not/ kitchen / There / a /mirror.
3. the / bedroom / there / in / Are / beds / 2/ ?
4. Are / wardrobes / the/ hall / there / in/ 8 /?

5.a/lamp / there / Is / room / your / in/?



o

Ilepesenure npeasioKeHUE:

PsamoM ¢ oTenneM eCcTh YUCTHIN IUISDK.

Ha nuBane Tpu KOIIKH.

B xonoaunpHUKE ecTh OyThIJIKA MOJIOKA.
B kop3uHe HeT KITyOHHUKH.

Ha aBT0OyCHOI OCTaHOBKE €CTh JIHOI1?

Al

KontponsHoe pabota 3

1. [TocraBbTE CYIIECTBUTEIFHOE BO MHOYKECTBEHHOE YHCIIO:
flower

man

language

country

address

2. Hanummwre 3 ¢opmbiriarosna:
build

lose

give

drive

forget

3. IlocTaBbTe mpUIaraTeIbHOE B CPABHUTEIBHYIO U IPEBOCXO/IHYIO CTETICHb:

Hot, long, short, clever, silly, great, red, black, white, thin, thick, fat, nice, warm, cold.

4. Mcnonp3yHTeHYXHYIOCTEIEHbCPABHEHUS:

1. — How do you like Smucker's Sweet Orange Marmalade, Mrs. Johnson? — I think it's (delicious). It's
much (delicious) than the marmalade I usually buy. — We agree with you, Mrs. Johnson. We think
Smucker's Sweet Orange Marmalade is (delicious) marmalade in the world. 2. The rivers in America
are much (big) than those in England. 3. The island of Great Britain is (small) than Greenland. 4. What
is the name of the (high) mountain in Asia? 5. The English Channel is (wide) than the Straits of
Gibraltar.



5. BeiGeputenpaBuibHbIMBapHAHTTIIATOJIA!
1) ... she in the park yesterday? (were, is was)
2) Mike and Nick ... at 3 o’clock tomorrow. (are,

3) Did you ... English last week? (has, have, had)

were, will be)

4) They ... 5 lessons tomorrow. (had, have, will have)

5) The teacher ... us at the next lesson. (asked, asks, will ask)

6) Usually our lesson ... at 8.30. (will begin, begins, begin)

7) He ... this book when he was a child. (has, hav

e, had)

I/IzyquI/Ie JAUCHUIINIMHBI MPEAIojJaracT BBIIIOJHCHUE JOMAIIHUX KOHTPOJBHBIX pa60T JJIA

3a09HOM (OpMBI OOYICHUSI.

JlomaiHsist KOHTposbHas padora Nel

3ananue 1. IlpoBepka 3HaHus npaBuil 0OpazoBaHus u ynorpebienus PresentSimple.

1) Ilpy momMomm Kakoro/Kakux BCIIOMOTATENbHBIX TJIArojioB 00pa3yloTcs BOMPOCUTENbHBIE U

OTpHUIIaTENbHBIE TIpeIokeHus B PresentSimple?

2) Kakoe oxoHuanume wumeer rimaron B PresentSimple mnpu ymoTpebieHMM B TEpBOM JIMLE

€IUHCTBEHHOI0 ynciia?

3) Kakoe oxoHuanue wumeer riaron B PresentSimple npu ymorpebieHMM B TpeTbeM JIMLE

€IUHCTBEHHOI0 yncia?
4) HamummTe He MeHee TpeX OOCTOATEIbCTB
MpeIOKEHUX BO BpeMeHH PresentSimple.

3amanue 2. CocTaBbT€ BOIPOCUTENBHBIE NPEUIOKEHHUS U3 YTBEPAUTEIbHBIX.

BpPEMEHHU, KOTOpbIE OOBIYHO YHOTPEOISIOTCS B

HAYUHATBHCA C BOIIPOCUTCIIBHOI'O CJIOBA, YKA3aHHOI'O B CKOOKax.

1. Peopledostupidthings. (Why?)
2. Tom works. (Where?)

3. I have dinner in the evening. (What time / usually?)

4. The car breaks down. (How often?)

5. I go to the cinema. (Howoften?)

3ananue 3. CoequHUTE YaCTH MPEUIOKEHUS U3 PaBOX U JIEBOW KOJIOHOK TaOJIMIIBI.

Bonpoc nomxen

Whatdoes

youcomefrom?

InsummerTomusually

patientsinhospitals.




Wheredo

thiswordmean?

Nurseslookafter

growinBritain.

Ricedoesn’t

plays tennis twice a week.

3ananue 4. BriOepute U3 IByX BApHAHTOB OJMH BEPHBIH.

1) The Earth goes / go round the sun.

2) Does your wife arrive / arrives on Monday?

3) Idon’tunderstand / understands this sentence.

4) Don’t/ doesn’t talk so loudly, I hear / hears you well.
5) How often do / does you go / goes to the dentist?

3ananue 5. Pemute 5 TecTOB (TOJIBKO OAWH OTBET BEPHBIN).

1. We usually ... a bus or a taxi early in the morning to get to work.

d) were taking

2.1... to work now. Good-bye!
a)

b)

¢)

d) goes

3. This is a great party. Everyone ...

d) are dancing

4. Nurses ... after people in hospital.

a)
b)

c)
d) look

5. My sister seldom ... our parents.
a)
b)
¢)

d) visits

Jomarrssist KOHTpoJibHas padota No2

am

1S

is
will

do
does

took
take
taken

go
went

going

dance
dancing
dances

looks
looking
look

visit
visit
visit



1. HaiiguTe B mpaBoil KOJJOHKE PYCCKUE SKBUBAJICHTHI AaHTJIMMCKHUX CJIOB U CIOBOCOYETAHUM:

1. sole proprietorship a. yIpaBJieHUE

2. partnership b. monsmnoTeps

3. shareofprofit C. MAPTHEPCTBO C OTPAaHUYEHHON IOPUINYECKON OTBETCTBEHHOCTHIO
4. incometax d.mapTHEpCcTBO

5. management €. HeJIOCTaTKH

6. corporation f. Hasor Ha MOXOIBI

7. advantages €. JIbIOTHI IO HAJIOT000JIOKEHUIO

8. taxadvantages (benefits) h. monst mpuGHLUH

9. disadvantages 1. eIMHOJIMYHOE BJIAJICHUE
10. share of lossk J. IpEUMYyIIeCcTBa

11. life insurance k.xopmoparus

12. limited partnership 1. cTpaxoBaHUEKU3HA

2. IlepeBenuTte Ha PyCCKUM S3BIK BCTPEUAIOIIHUECS B TEKCTE MHTEPHAIMOHAJIbHBIE CIIOBA:

form, formal, business, organization, position, title, president, documentation, corporation,
economical, product, partner, service, industry, personal, professional, manager, state, financial,
resources, sum, registration, specialist.

[IpouTHTe TEKCT U BBINOIHUTE CIECIYIOLIUE 32 HUM YIIPAKHCHUS:
SOLE PROPRIETORSHIP, PARTNERSHIP, CORPORATION

1. There are three forms of organization of your business. These forms are the sole
proprietorship, the partnership and the corporation. Which of these forms of organization you choose
depends on suchquestions as the size of your business, whether you are the only owner of your
business or you have partners.

2. Sole Proprietorship. A sole proprietorship is the simplest organizational form. There is one
owner of the business, who usually takes the title of President. So he or she can make any decision
without consulting anyone. Such kinds of business are in the service industries, such as repairing
shops, restaurants, etc.

3. Partnership. A partnership means that there is more than one owner to carry out business.
And each partner declares his or her share of profit or loss on the personal income tax return.

There is a special type of partnership, called a limited partnership, where the limited partner is not
involved in the management of the firm.

4. This form of organization is useful in such professional fields as law, insurance, and some
industries, for example, oil prospecting.



But partnership has some disadvantages. Partnership business fails when one of the partners loses his
interest or disagrees with the other.

5. Corporation. A corporation is a more formal way of organization. It is established for the
purpose of making profit and operated by managers. Corporation involves registration with a state
department of commerce. There are some advantages, such as being able to attract financial resources,
and to attract talented specialists and managers due to high salaries. In general, this form is
economically better for business when its profit reaches a great sum of money.

4. IlepeBenuTe Ha PYCCKUH SA3BIK B TUCbMEHHOU (hopme ab3arel 2, 3 u 5.

5. HaiinuTe COOTBETCTBYIOIIME OTBETHI HAa BOIMPOCHI M HAMMIIUTE MX B TOW MOCIEIOBATEIHHOCTH, B
KOTOPOU 3a/1aHbl BOMPOCHI:

Bomnpocsr:

1. What forms of business organization do you know?
2. What is a sole proprietorship?

3. What is a limited partnership?

4. What is a corporation?

5. What are the advantages of a corporation?

OTBeTsI:

a. In this form of organization there is more than one owner, but the limited partner has no right to take
part in the management of the firm.

b. It is a more formal way of organization, which is established to make profit and is operated by
managers.

o

. Sole proprietorship, partnership and corporation.

d. The ability to attract financial resources and to attract talented managers and specialists.

[¢]

. It is the simplest form of business organization. There is only one owner of his or her business.

6. 3aKOHUHUTE MPEI0KEHNUS, BHIOPAB COOTBETCTBYIOLIHI BApHAHT OKOHYAHUS:

1. A sole proprietorship is an organizational form of. a) only one owner;

2. A partnership is a business form of.... b) more than one owner;

3. A corporation is a business form of... ¢) an institution operated by managers.

4. The disadvantage of a partnership is.... a) the ability to attract financial
resources and talented managers.

5. The advantage of a corporation is.... b) that the partners may disagree with

each other.



c) that the owner makes decisions
without consulting anyone.

Jomarrssist KOHTpoJbHas padora Ne3

[IpounTaiiTe U MUCBMEHHO NIEPEBEIUTE TEKCT:

I study at the Bookselling College. I get up at a quarter to seven. I switch on the radio and
exercise to the radio music. Then I go to the bathroom, wash myself and clean my teeth with a tooth-
brush. It takes me not more than ten or fifteen minutes. Then I dress and sit down at the table to have
my breakfast. [ usually have a cup of tea or coffee, eggs and bread and butter.

After breakfast I go to the college. I go there by metro and by bus. My lessons begin at 9.30.
At twenty minutes to one we have a lunch hour. We study many subjects. Best of all I like English and
literature. When I studied at school, I liked English and literature too. At eight or nine o’clock I have
supper. [ have some salad, a slice of sausage and bread, sour milk or cereal.

In the evening I do my home-work. I must and can do it well. Sometimes I listen to the radio or
watch TV. In the morning I am going to the college again.

[IepeBenute coBa U CIIOBOCOYETAHUS HA AHTJIMHACKUN SI3bIK:
KHUTOTOPTOBBIN KOJIEIK

BKJIIOYATh Pavo

JeNIaTh YTPEHHIOI TUMHACTUKY
BaHHas KOMHAaTa

3yOHas MIeTKa

YUCTHUTH 3YObI

3aBTpaKaTh

xJe0 ¢ Macaom

yueOHbIC 3aHATUS

«BTOPOH 3aBTpaKy», 03HAYACT TAK)KE «00e» BO BpeMs 00CACHHOTO IIEpePhIBa B YUPEHKICHUN
0oubIlIEe BCETO

cajar

KYCOK, TOMTHUK

KoJibaca

KHCIIOEMOJIOKO, IIPOCTOKBAIIIA

Kalia

3.IlocTaBbTE K TEKCTY MSTh BOIIPOCOB HAa AHTJIMMCKOM SI3BIKE.



4.BpInmuiuTe U3 TEKCTa MPEIJIOKEHHS, KOTOPbIE CTOAT B MPOILIEIIIEM HEOMPEISIIEHHOM U OyayIiemM
HEONpPEeIeICHHOM BPEMEHHU.

S5.Haiigute B TEKCTE MPEIJIOKEHUA, TAE MPUIarareibHOE CTOUT B CPAaBHUTEIBHON M MPEBOCXOIHOMN
crerieHu. OOpasyiiTe CTeTeHU CpaBHEHUS CIIEAYIONINX MPUIIaraTeIbHbIX:
young, long, difficult, bad, good.

6.IlepeBenure Ha aHTIIMCKUUN S3BIK MPEJIOKEHUS:
Ha cTosie MHOTO HOBBIX KHHUT.

Ee knuru crapeie.

B knure 5 rias. Knura cocrout u35 rias.
BbI 04eHB XOPOLIIO TOBOPUTE M1O-aHIVIMUCKHU.
S xnmy moero Opara.

S ponuncs B Mockse.

JKu3Hb — OUeHb UHTEPECHAS.

3HaHue — cuna.

. Bam nyumie oOpaTuThCst K CTOMATOJNIOTY.

0 I'e HaxoauTcs aBTOOYCHAst OCTaHOBKA?

H‘°.°°.\‘.°\.U‘:‘>P’.Nt‘

7. BeiOepuTe MpaBUIbHBINA OTBET:

1. Whereareyoufrom?

A I’'m France. B I’'m from France. C French. D I’m French.

2. How old are you?

A T have 16. B Iam 16. C I have 16 years. D I am 16 years.
3. Are you having a nice time?

A Yes, I’'m nice. B Yes, I'm having it. C Yes, I am. D Yes, it is.

4. Could you pass the salt please?

A Over there. B I don’t know. C Help yourself. D Here you are.
5. Yesterday I went bus to the National Museum.

A on B in Cby D with

6. Sue and Mike to go camping.

A wanted B said C made D talked

7. Who’s calling, please?
A Just a moment. B It’s David Parker. C I’ll call you back. D Speaking.
8. They were after the long journey, so they went to bed.

A hungry B hot C lazy D tired



8. Can you tell me the to the bus station?

A road B way C direction D street

10. you remember to buy some milk?

A Have B Do C Should D Did

11. Don’t forget to put the rubbish out. — I've done it!
A yet B still C already D even

12. You don’t need to bring to eat.

A some B a food C many D anything

13. What about going to the cinema?

A Good idea! B Twice a month. C It’s StarWars. D I think so.
14. What would you like, Sue? — I’d like the same Michael please.
A that B as C for D had

W3ydyeHue NIUMCHUIUIMHBI TMpeNroyiaraeT clady SK3aMeHa BYETBEPTOM CEMECTpPE H3YUEHHUS
JUCIUTUIAHBI.

CuTtyatuu J1sl TUaJsoTH4ecKOr pedun
Gettingacquainted
Buying a ticket

Kpurepun ouenuBanusi: makcumym 10 0.
10-9 6. 100 - 90% BepHO TaHHBIX OTBETOB
8-76. 89-75% BepHO MaHHBIX OTBETOB
7-60. 74-60% BEepHO NaHHBIX OTBETOB
5-0 6. menee 60 % BepHO JaHHBIX OTBETOB — 3HAHUS HE COOTBETCTBYIOT TPEOOBAHUSIM

4. MetoanuecKkue MaTepHaJibl, ONpeAesONe KPUTEPUN U MPoUeIypPbl OLeHMBAHUS
3HAHUM, YMEHHH U HABBIKOB, XapaAKTEPU3YIOIIMX ITaNbl POPMUPOBAHMUS KOMIIETEHIIH I

Onupasice Ha oOmieeBponeiickiue TpeOOBaHUs, YUNUTHIBAs CHEU(UKY JUHTBOOOpPA30BaHUS B
HESI3BIKOBOM (TE€XHHYECKOM) BY3€, OLIEHKA OCBOCHMS COJIEPXKaHHS IO JUCIHUIUIMHE MPOBOAUTCS IO
CIIEYIOIIUM YPOBHSM BJIaJIHUA S3bIKOBOM KOMITETEHLIEH!

1. anemMeHTapHBIN

2. IPOMEXYTOUYHBIN

3. mpoheccnoHaNTBEHO-T0OCTATOYHBIH

[IpuMeHUTENBHO K S3BIKOBOM KOMMYHMKAI[MM YPOBEHb BJIAQJCHUS PEUYEBBIMU YMEHUSIMHU Yy
CTYACHTOB II0 OKOHYAHHIO BCEro Kypca OOydYeHHs WMJIM Ha KaXXIOM OTICIBHOM JTare y4eOHOro
mpolecca onpeensiercs CIeIyIIUMU apaMeTpamu:

1) ymeHue pemaTb KOMMYHUKAaTUBHBIE 3a]a4l;

2) cdepbl, TeMbl W CHUTyallMH OOIIECHHS, TO €CTh TNPEIMETHO-COJIEpKaTelIbHAsl CTOPOHA
001IeHUS;

3) creneHb JUHTBUCTHYECKON M NparMaTuyeckoll KOPPEKTHOCTU M aJEKBATHOCTU pEIICHUS
ITHX 3a]1ad.



C y4€TOM OCHOBHBIX KOMIIETCHIIMN BBIJCICHBI CJICAYIONINE KPUTEPUHM YCIENIHOCTH H
PE3yNIbTaTUBHOCTH Tpoliecca 00ydeHus, a Tak’Ke COOTBETCTBYIOIINE UM TMOKa3aTeIN:

1. Bnanenue npodeccuoHaIbHO-PEIeBaHTHHIMHU 3HAHUAMHU (MnpopmarronHo-
dakTosornyeckas HamOJHEHHOCTh OOIIEHUS B COOTBETCTBHUHM C IOCTaBICHHONW KOMMYHHUKATHBHOMN
3a7a4eit).

2. Brnagenne yMmeHHSMH JUHTBHUCTHYECKOTO odopmienus oOmenus (['pammarnueckas
MPAaBUIILHOCTh; aJICKBATHOCTh BHIOOpA JEKCUYECKUX CPENCTB (TEPMUHOJIOTHH, MPOodeccHoHATbHBIC
KJIMIIIE) PeIIEHUI0O KOMMYHUKATUBHBIX 3a71a4).

3. Cxkopoctb peueBoid peakuuu (CKOpPOCTh TOCTPOCHUSI WHUIMATUBHOIO BBICKA3bIBAHUS,
HaJIMYue HEOIPaBJIaHHBIX ay3; CKOPOCTh PEaKIUH MpU OTBETE).

4. ®opMUpOBaHHE JTUYHOCTHBIX KadyecTB crieruanuctoB (LleHHOCTHas opHeHTalus CTyIEeHTOB
npu OOY4YeHHH HWHOCTPAaHHOMY $I3bIKY; KOMMYHHMKATHBHAas MOOWJIBHOCTb B CHUTYyalUSX OOIICHHUS;
CIIOCOOHOCTH K KOPIIOPATUBHOMY B3aUMO/ICHCTBUIO).

B pamkax pgaHHOrO Kypca MHCIOJNB3YeTCs CHCTEMa HENpPEephIBHOIO OLIEHWBAHUA U
MOCTYMNATeNLHOTO pa3BUTHs CcTyAeHTa. [lomoOHOe olleHWBaHHME BKIIOYAaeT B ce0s ydacTue B
pa3HOOOpa3HBIX TPYNIOBBIX W TMapHBIX TMpOEKTax ([esoBas W pojeBas urpa, AHCKyccus),
KOHTPOJIBHOE cOoOeceoBaHue, MPE3CHTALNI0O U TPAIUIMOHHBIE (OPMBI OIEHUBAHUS KaK OIMpPOC BO
BpeMs 3aHATHUS C HABOSAIIMMHU BOIIPOCAMU, KOTOPBIl 0003HaUaeTCs Kak HallpaBiIieMOe TECTUPOBAHHUE.

1. 3a nucbMeHHBbIe PadoOThI (KOHTPOJIBHBIE PAaOOTHI, TECTHI, JIEKCHYECKUE AUKTAaHTHI, M/[3)
OLICHKA BBIYUCIIAETCS UCXOS U3 MPOIIEHTA MPABHIbHBIX OTBETOB:

90% - 100% - max 6am1, 60 % -min

2. VYcrHble oTBeTbl (MOHOJOTMYECKHE BBICKA3bIBAHUS, KOHTPOJbHOE cobeceqoBaHUeE,
MepecKasbl, JAUAJOTH W JUCKYCCUU, KPYTIBIA CTON, paboTa B Tpymnmax, AeNoBas W pojeBas WUrpa,
npe3entanun, M/13) oreHnBaroTCs 10 MATH KPUTEPHSIM:

a) Copnepxxanue (coOmoeHUE O0beMa BBICKA3bIBaHHUsS, COOTBETCTBHE TE€ME, OTPAKEHBI BCE
aCNeKThl, yKa3aHHbIE B 3aJlaHUU, CTHJIEBOE O(OpMIIEHHE pPEYd COOTBETCTBYET THUITY 3aJaHMs,
apryMeHTallus Ha COOTBETCTBYIOIIEM YPOBHE, COOIIOIEHUE HOPM BEKITMBOCTH ).

[IPU HEYJIOBJIETBOPUTEJILHOM OIEHKE 3A COJEPXAHHUE OCTAJIbHBIE
KPUTEPMU HE OLEHUBAIOTCSH, 1 PABOTA TOJYUYAET HEYJAOBJIIETBOPUTEJIbHYIO
OLIEHKY;

6) B3aumopeiicTBue ¢ cobeceHUKOM (yMEHHUE JOTMYHO U CBSI3HO BECTH Oecedy, COON0IaTh
OUepeHOCTh MPU OOMEHE peIuIMKaMH, JaBaTh ApryMEHTHUPOBAaHHBIE W pPAa3BEPHYTbIE OTBETHI Ha
BOMIPOCHI COOECEeTHNKA, YMEHHE HauaTh U MOJEPKUBATh Oecey, a TaK)Ke BOCCTAHOBUTH €€ B CIIydae
c00s1: TIepecnpoc, YTOUHEHHE);,

B) Jlekcuka (cloBapHBIi 3amac COOTBETCTBYET MOCTABICHHON 3a7ade M TPEOOBAHUSAM JaHHOTO
Kypca OOy4eHHS S3bIKY);

r) I'pammaruka (KMCIOJNIL30BaHHE PA3HOOOPA3HBIX TPAMMATHYECKMX KOHCTPYKUIUN B
COOTBETCTBHUU C TIOCTABJICHHON 3a/1auei U TpeOOBaHMIM JTAHHOTO Kypca 0Oy4eHHS S3BIKY);

n) IlpousHomieHne (MpaBUIBHOE MPOM3HECEHHE 3BYKOB AHTJIMICKOTO SI3bIKA, IMPaBUIIbHAS
MOCTaHOBKA yIapeHUsI B CIIOBAX, a TAK)Ke COOI0ICHHE MPaBUIIbHON UHTOHAIIUH B MPEIOKECHUSX ).

Bech cemecTpoBhIil Kype mpeasiaraercs oneHuBaTh mo mkane B 100 6amios. s momydeHus
3auera J0CTaroyHo HaOparh 60 OamioB. s muddepeHnmpoBaHHOr0 3adeTa WM HK3aMEHa
mpeiaraeTcs Ciaenyromas mKkaiga, 00ecreurnBaoIas COOCTABUMOCTh ¢ MEXKIYHAPOIHON CHCTEMOM
OIICHOK:

Ouenka no S 6ajabHOI 3auer 621(51).1711\(4):2:10 Ouenka Ipaxanus
mKase (ECTYS)
AUCHHILTNHE

5 (oTIM4HO) 3adreHo 90-100 A OTIINYHO

4 (xopoio) 85-89 B OYEHb XOPOIIO
75-84 C XOpOIIIO
70-74 D

3 (yIOBIETBOPUTEIIHLHO) 65-69 YAOBICTBOPHTCIBHO




60-64

MMOCPEACTBCHHO

2 (HEyIOBIIETBOPUTEIILHO)

He 3auteno

Hwuxe 60

HEYJIOBIETBOPUTEIHHO




